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The ‘Avidire-nidana’ of the Jataka-atthakatha describes the biography of the Bodisattva

F
From his Enlightenment to death
. From his birth to death

4. From Tusita to his birth
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The number of Vassavasa the Buddha spent at Rajagira :
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Among the foremost disciples of the Buddha who was learned (bahusutta) :

1. Mahakassapa

2. Ananda

3 Moggallana
Sobhita
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According to the Mahaparinibbanasutta the places that stimulate a sense of emotional urgency (samvejaniyani)
among the Buddhist believers are :

1. Kapilavatthu, Bodhagaya. lisipattana. Kusinara
2. Lumbini, Bodhagaya, Isipatana, Kusinara
3. Savatthi, Saketa, Gaya, Rajagaha

Lumbini, Bodhagaya, Rajagaha, Kusinara
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Which of the following rule does not belong to Niggahita Sandhi?

1. Paro va saro

2. Byailjano ca visafiiiogo

3 Lopam ca tatrakaro
Saye ca
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‘Panna me Yuganangalam’ — The word ‘me’ in this sentence is

1. Aharh, tatiya Ekavacana

Aham, paficami Ekavacana

Aharh, chatthi Ekavacana
4. Aham. sattamI Ekavacana
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“Appamadena maghava setthatamh gato” — In this sentence the word ‘maghava’ means

. Brahma
. Bhikkhu
. Buddha
. Indra
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“Paticcasamuppadam vo, bhikkave, desessami” — In this sentence ‘vo’is

1. Avyaya
2. Tram, dutiya bahuvacana
3. Aharh, dutiya bahuvacana
4. kriyavisesana
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‘ma, bhikkhre, tathagatam namena ca
avusovadena ca samudacaratha”
Who is telling this statement to whom :

. Ananda to chavaggiya

. Buddha to paficavaggiya

. Buddha to Upaka Ajivaka
. Buddha to Rahula
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“Yo tassa yeva tanhdya asesaviraganirodho
cago patinissaggo mutti 'analayo’
The meaning of "analayo" is :

. Free from Greed

. Free from attachment
. Renunciation

. Nibbana
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ye dhamma hetuppabhava tesam hetu tathagato aha :
The word ‘hetuppabhava’ stands for

. Panicakkhandha
. Rupa

. Nibbana

. Anafta
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The number of sila-s (precepts) prescribed by the Buddha for the samaneras are :

. Five

. Seven

. Ten

. Two hundred twenty-seven
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The Sutta which deals with the story of King Mahavijita is

. Ambatthasutta

. Brahmajalasutta

. Kitadantasutta

. Samannaphalasutta
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The Sutta which deals with “Ditthadhammanibbanavado™ is

1. Samannaphalasutta
2. Kutadantasutta

3. Ambatthasutta

4. Brahmajalasutta
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The place where interaction between the Buddha and Suppiya took place was -

1. Mahavana-Kutagarasala of Vesali

2. Ambalatthika of Rajagaha
3. Icchanangala of Kosala
4. Ambavana of Rajagaha
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The word Bijagamabhutagama stands for

1. Plants and Living Beings both
2. Plants only

3. Living Beings only

4. Neither plants nor living beings
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Which one of the following texts of the Pali literature mentions the name of the Suttanipata as an independent
text?

. The Visuddhimaggo
. The Vimuttimaggo

. The Milindapanho

. The Nettippakarana
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Besides the Suttanipata, which text of the Pali Tipitaka compliles the Vasetthasutta?

. Dighanikaya
Majjhimanikaya
. Ariguttaranikaya
. Samyuttanikaya
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The meaning of the word ‘Dipam’ in Dipam Kayiratha medhavt’ is

. Lamp

. Island

. Countryside
. Riverbank
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In the Dhammapada, Subhavitam Cittam’ (well guarded citta) has been compared with

. Well-thached house
. Ill-thached house

. Counting of cows

. Feeble tree
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Citta lahuta is ;

1. Akusala Cetasika
2. Sobhana Cetasika
3. Aniyata Sobhana Cetasika
4. Pakinnaka Cetasika
1) 1
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The total number of Kusala, Akusala and Vipaka citta-s in Kamavacara bhiimi is :
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According to . Arlipavacara is fourfold.

1. jhana

. puiifia, paka and kriya
. dhatu

. alambana
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Identify Ahetuka Citta

1. Somanassa Sahagatarh hasituppadacittami
2. Domanassa Sahagatam hasituppadacittar
3. Upekkha Sahagatarh hasituppadacittam
4. Somanassa Sahagatar manodvaravajjanacittari
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Kim lakkhana Cetana?

. Cetayitalakkhana

. Sanjananalakkhana

. Vedayitalakkhana
Sampakkhandanalakkhana
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Bhante Nagasena got knowledge of three Pitakas from which Acarya ?

. Ayupala

. Dhammarakkhita
. Assagutta

. Rohana
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Kim lakkhano manasikaro?

. Pamukhalakkhano
. Phusanalakkhano
. Appanalakkhano

. Uhanalakkhano
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Obhasanalakkhana is associated with :

. Stlamh
Samadhi

. Panna

. Manasikaro
11
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Besides the moral and immoral states of consciousness the term ‘Abyakata’ does not include :

. Riipa

. Asankhatadhatu
. Kiriya

. Arahataphala
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Katame dhamma dassanena pahatabba?

1. Sakkayaditthi Vicikiccha and Silabbataparamasa
2. Ruparaga, Aruparaga and Mana

3. Sakkayaditthi, Uddhacca and Avijja

4. Issa, Mana and Patigha
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Except Sakkayaditthi, Vicikiccha and Silabbataparamasa, other defiling factors are being destroyed by

1. Dassanena
2. Bhavanaya
3. Neva Dassanena na Bhavanaya
4. Dassanena hetuka
11
) 2
(3) 3
4) 4
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Those that do not lead either accumulation or elimination :

1. Vipaka
2. Kiriya
3. Rupa
4. Akusala
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‘Samasabahulyam eso gajjassa Jivitam, pajjepyanikulo so’ is the concept of

. Pasadaguna

. Ojaguna

. Udarataguna
. Samataguna
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"Yatha kidasaro lilahaso hemangadadayo' which one of the following Gunas is found in the quotation given
above?

1. Kanti

2. Atthvyatti
3. Udarata
4. Madhurata
11
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Apart from an independent text the Patimokkha belongs to :

1. Suttavibhanga
2. Khandhaka
3. Parivara

4. Khuddakanikaya
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The number of monk/s can be ‘Patimokkhuddesaka’ :

. Four
. Three
. Two

. One
11
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To recite the Patimokkha in brief when there is no danger, is an offence of :

. Dukkata

. Tullaccaya
. Nikkhepana
. Aniyata
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The Buddha had delivered the Dhammacakkappavattam-sutta on the day :

. Vesakha Punnima
. Asadhi Punnima

. Savana Punnima

. Kattika Punnima
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Assaji and Punabbasu, the member of the Chavaggiya were disciples of :

1. Sariputta and Moggallana

2. Panduka and Lohitakka

3. Nadi Kassapa and Gaya Kassapa
4. Ananda
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Who said : “Navuso, ananda bhagava parinibbuto. safifavedayitanirodham samapanno’ti |

1. Mahakassappa
2. Sariputta
3. Aniruddha
4. Mallaputta
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(4) 4
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Sl. No.41
QBID:183041

The leading monks during the Second Buddhist Council were :

A. Sabbakami
B. Salha

C. Revata

D. Khujjasobhita
E. Yasa

Choose the correct answer from the options given below :

AB,C,DE

(4) 4

&l dlleg Agifd o Ty ol UHE (e o .

A. GeabTHl
B. Hleg
C.¥ad

D. T gifHd

E. 9
i< fau T fadh el § O Ual 3R &l 98- DIy |

1.A,B,C,D,E
2. Hdd A, C.D,.E
3.%dd B, C,D
4. ®dd B, C,E

(1)1
) 2
(3) 3
(4) 4

1[Option ID=16161]
2[Option ID=16162]
3[Option ID=16163]
4[Option ID=16164]

Sl. No.42
QBID:183042




The disciples of Anuruddha who participated in the Second Buddhist Council

A. Vasabhagamika
B. Sumana

C. Yasa

D. Revata

E. Sabbakami1

Choose the correct answer from the options given below :

1. A, Bonly
2. A, B, Conly
3.A,B,C,Donly
4.A,B,C,D,E
1) 1
() 2
(3 3
(@) 4

%G b R Wil Tl dll Agifd H |iefera gu d -

A, AT S
B. gH-

C. a9

D.¥ad

E. Ysdhrdl

T faU U f[ah el | § Ul IR &l 99 Bifu|

1. Hdd A B
2. HAA A, B, C
3. $dd A, B.C.D
4.A.B,C,D.E
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=16165]
2[Option ID=16166]

3[Option ID=16167]
4[Option ID=16168]

Sl. No.43
QBID:183043

Ime dhamma samghadisesa :

A. Sampajanamusavado

B. Omasavado

C. Jivita voropeyya

D. Uttarimanussadhammam Samudacareyya

E. Matugamena Saddhim kayasamsaggam Samapajjeyya

Choose the correct answer from the options given below :

i 0 W £ P R B o
2. A B.E only
3. C.E only
4. E only

(1) 1

(2) 2

(3) 3

(4) 4




H YT TGO -
A. GHIGTFEHETE!
B. 3fTara!

C. Siifgar aRIu

D. SAREIS Y SE=RY
E. HIQTH Ol Saaw gH=ia

14 feu e fasedl § 9§ 9el 3R &1 994 Siiu|

1.A.B.C.D.E
2. %dd A B.E
3. %AAC.E
4. PAdE

(11

() 2

(3) 3

(4) 4

1[Option ID=16169]
2[Option ID=16170]
3[Option ID=16171]
4[Option ID=16172]

Sl. No.44
QBID:183044

Names of the Buddha’s wife are

A. Bhaddakacca
B. Yasodhara
C. Rahulamata
D. Bimba

E. Gopa

Choose the correct answer from the options given below :

1. A, B, C only
2.B,C, D only
3. 48,B.C
A B €

D only
D.E

.
vslive i@ wol

1) 1
(2) 2
(3) 3
(4) 4

4S DI U b A G

A. Yeddl
B. JHIeRT

C. AETHTT
D. fawa

E. 7191
i< faU U A el | 9 Ul IR &1 99 HifE|

1.HAd A, B. C




(4) 4

1[Option ID=16173]
2[Option ID=16174]
3[Option ID=16175]
4[Option ID=16176]

Sl. No.45
QBID:183045

Identify the correct options.

A. According to Vomissaka Sandhi ‘ra’ and ‘da’ changes to Ia

B. According to Vyailjana Sandhi ‘ra’ and ‘da’ changes to Ia

C. Palibodho is an example of Sara-sandhi

D. Palibodho is an example of Vyailjana-sandhi

E. Acarya Sumangala describes fourfold sandhi in the Balavatara

Choose the correct answer from the options given below :

1. Aonly
2. B and D only
3. C only
4. A, and E only

1) 1
) 2
3) 3
(4) 4

ol [dbed] &I UgdH

A. QIS G & HTER T 3R ‘T DI D AR 5l Sl 6|
B. 43 9 & IR X 3R & ST @ gl Sdl g |

C. gfcraie SR-9 &1 U &0 5 |

D. Yferdlel S5 |1 &1 U 3R g |

E. 310 YHTd SIAddR H IR YR DI i &1 gai g |

< f4U 71U f[dh el § 9 Ul IR &1 99 Hifu|

1.pdd A
2. HadB 3R D
3. Hhdd C
4. FAAANRE

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16177]
2[Option ID=16178]
3[Option ID=16179]
4[Option ID=16180]

Sl. No.46
QBID:183046




Identify the example of Kicca-paccaya
A. Datthabbarh
B. Vidiid

C. Abhibha
D. Nanar
E. Paragu

Choose the correct answer from the options given below :

1. A only

2. Aand D only
3.B,Cand E only
4. A and E only

1)1
(2) 2
(3) 3
(4) 4

fho-U=d & JIgXUl UgdH -

A.ggsd
B. fa=s]
C. 3fHY
RS
E. ORI

i T4U U [dd el H U el 3R &l 9499 DifoT|

1. hdd A

2. Had A 3R D
3. $Hadd B, C 3R E
4. HadA3MRE

11
(2) 2
(3) 3
(4) 4

1[Option ID=16181]
2[Option ID=16182]
3[Option ID=16183]
4[Option ID=16184]

Sl. No.47
QBID:183047

Identify the examples of Tulyadhikarana Bahubbihi :

A. Sahetuko

B. Vajirapani

C. Suvannavanno
D. Mahapaiino

E. Rajaputto

Choose the correct answer from the options given below :

1. B and C only
2.D only
3. Aand E only
4. A.D and E only
1) 1
(2 2




3) 3
(4) 4

qedTI¥IhRU Sgesiig & 3algU g :

A. Tgd®!
B. dfoRTTfor
C. gquurguon
D. A==l
E. STl

T faU U f[ah el | § Ul IR &l 99 Bifu|

1[Option ID=16185]
2[Option ID=16186]
3[Option ID=16187]
4[Option ID=16188]

Sl. No.48
QBID:183048

Which of the following indicates fifth case-ending?

A. Nafilam dukkha

B. Adhamma jigucchati

C. Matuya Sarati

D. Araka te dhammavinaya
E. Samana agata

Choose the correct answer from the options given below :

.A.Band C only
.C,D and E only
.B,D and E only
.A.Band D only
1
(2 2
(3) 3
(4) 4

W I =

=




fafafed # 9 S oz fqufdd o1 qxiarg?

A, resl gl

B. 3¢ foi=sid
C. AIgaT WRfd

D. 3RbI d Y-
E. THUM 3T

- f&u 1 faepedl # 9 Het IR BT 99 BIfoU :

1. FGd A, B3R C
2.%dd C,D AR E
3. $Had B, D AR E
4. $dd A, B3IRD

1)1
) 2
(3) 3
(4) 4

1[Option ID=16189]
2[Option ID=16190]
3[Option ID=16191]
4[Option ID=16192]

Sl. No.49
QBID:183049

A scholar who believes that the homeland of Pali is Vindhya

A.R.O. Ranke

B. Sten Konow

C. Westerguard

D. E. Kunh

E. Herman Oldenberg

Choose the correct answer from the options given below :

1. A and B only

2. Aand C only

3. A, Band E only
B.Dand E only

4.
1) 1
) 2
(3) 3
(4) 4

(g, Sl fa=g Yo=1 &1 g1l &1 8 U= AFd g |

A 3R.3T. P
B. X} I
C. TS

D.3. %%
E. §H SlicgTaT

i fau 71U fah eyl § 9 gl IR &l 99 Difel|

1. $ad A 3R B
2. Had A 3R C
3. Had A, B3R E
4. $9d B, D 3R E




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16193]
2[Option ID=16194]

3[Option ID=16195]
4[Option ID=16196]

Sl. No.50
QBID:183050

Name of the texts written by the Scholar Chapada are

A. Niruttisaramafijusa
B. Nyasa pradipa

C. Sutta niddesa

D. Saddatthabhedacinta
E. dhatumafjusa

Choose the correct answer from the options given below :

1. Aand C only

2. B and C only

. B and E only

. C.D and E only
(1) 1

(2) 2

3) 3

(4) 4

BYUE A9 dgH & gRI [ LAY € -

A FEfaRTsSE
B. <E-Ya™

c. ga-Feg

D. G -Ha Tl
E. YIgH=oHT

i feu e famedl § 9 Ugl 3R &1 99 &I |

1. FPad AR C
2. FaaB AR C
3. PadAB AR E
4. HAAC. D IRE

1)1
(2) 2
3) 3
(4) 4

e o

1[Option ID=16197]
2[Option ID=16198]
3[Option ID=16199]
4[Option ID=16200]

Sl. No.51
QBID:183051




Manodhatu includes which of the three of the following consciousness :

A. Two sampaticchana-cittas
B. Dvipaiicaviifana

C. Tadalambana

D. Pancadvaravajjana citta
E. Santirana-citta

Choose the correct answer from the options given below :

1. Aand D
2.Band C
3. AandE
4.BandD

1) 1

(2 2

(3) 3

4) 4

AT A FEfafad J 9 €1 i o afdiea g -

A. Gl gIfewsH o
B. fgu=ids=mmun
C.qalE

D. UgRawIH-
E. I<Ru-f

< faU 71U A el § 9 Ul 3R &l 99 Bifu|

1. HAAATID
2. HddBUd C
3. PAdATIE
4. HdABUAD

1) 1

2) 2

3) 3

4) 4

1[Option ID=16201]
2[Option ID=16202]
3[Option ID=16203]
4[Option ID=16204]

Sl. No.52
QBID:183052

Riipa has been described as -

A. Ahetuka

B. Arammana
C. Sappaccaya
D. Sankhata
E. Anasava

Choose the correct answer from the options given below :




) 2
3) 3
(4) 4

A. 3gdd

B. 3{RE0]
C. o=
D. 9gaEd
E. 3Rl

4 faU U fash eyl § I g IR D1 A0 HIfIT :

1.$ddA. B, TIE
2. Hdd A, CUJE
3. %ddB.CUAD
4 HAAA CTID

1) 1

() 2

(3) 3

4) 4

1[Option ID=16205]

2[Option ID=16206]

3[Option ID=16207]
4[Option ID=16208]

Sl. No.53
QBID:183053

Identify those theras who taught the Abhidhamma till the conclusion of Third Buddhist Council :

A. Mahanama
B. Sandeha

C. Visudatta

D. Moggaliputta
E. Kakanda

Choose the correct answer from the options given below :

.Aand B only
.Band C only
.B, C and D only
.A.Band E only
1) 1

) 2

(3) 3

(4) 4

[T o

=




qoiig Gfifa o GHI T & 3 AR D1 ygar B e SHfHumT b1 3ye faur|
A. HelHH

B. ¥<g
C. faged
D. FimIfRITe

E. BIHUS
HId fau Tt fad eyl | U el 3R &I 99 DIou|
1. ®dd A 3R B

1[Option ID=16209]
2[Option ID=16210]
3[Option ID=16211]
4[Option ID=16212]

Sl. No.54
QBID:183054

Rapa, which is included under the lakkhana-rupa?

A. Upacaya

B. Anatma

C. Anitya

D. Hadayavatthu
E. Paiifiindriya

Choose the correct answer from the options given below :

. A only
.Aand C only
.Band C only
. D and E only
1) 1

() 2

(3) 3

(4) 4

EY, ol dgEU-¥Y H gAIRd § -

e td b —

A. 3990
B. 3ATH
C. [ d

D. §3UaY
E. gfeaf=g

i< faU Y fap el H 9 Hel 3R &1 9a- Bifoig :

1. dd A

2. FHad A 3R C
3. Had B 3R C
4. $dd D ARE

1) 1




() 2
3) 3

(4) 4

1[Option ID=16213]
2[Option ID=16214]

3[Option ID=16215]
4[Option ID=16216]

Sl. No.55
QBID:183055

The fourfold Dhammas are :

A. Khandha

B. Bala

C. Satipatthana

D. Sammappadhana
E. Bojjhanga

Choose the correct answer from the options given below :

.Aand E only
.Band C only
. C and D only
. D and E only
1
(2 2
(3) 3
(4) 4

adfdY e g

A9y

L

=

=i fau e fawedl § O Ug! 3R &l 984 IS

FAAAJIRE
. FaAB 3R C
. Fad C 3R D
. Had D ARE

(1) 1
) 2
(3) 3
(4) 4

S O

=~

1[Option ID=16217]
2[Option ID=16218]
3[Option ID=16219]
4[Option ID=16220]

Sl. No.56
QBID:183056




Bhante Nagasena got knowledge from which of the following Acaryas :

A. Rohana

B. Assagutta

C. Maharakkhita

D. Dhammarakkhita
E. Dhammapala

Choose the correct answer from the options given below :

.A,Cand E only
.A.Band D only
.A.Band C only
.B, C and D only

1)1
) 2
(3) 3
(4) 4

fAgfaRad emamf & O fHa-fea @ y=a 9= = 14 e foar ot -

A T80

B. 3G
C. HgRiaad
D. YARIRad
E. SFHITd

i faU 71U [ eyl § 9 gl 3R &l 99 DifoU|

1.$dd A, C3IRE
2. Hdd A, B3R D
3. Hadd A B3R C
4. H9d B, C 3R D

1) 1

) 2

(3) 3

4) 4

LIS T o

=

1[Option ID=16221]
2[Option ID=16222]
3[Option ID=16223]
4[Option ID=16224]

Sl. No.57
QBID:183057

Sapaiifio is associated with :

A, Cattaro magga apariyapanna, cattari ca samafifiaphalani
B. Purimakammanubhavena hissa sa siddha

C. T1su bhumisu kusalam akusalam

D. Kammajatihetukapatisandhi

E. Kusalacittasampayuttam vipassana fianam

Choose the correct answer from the options given below :

1. Aand C only
2.B and E only
3.Band D only
4. C and E only

1 1

(2) 2

3) 3

(4) 4




Y=ol Zo R o -

A. IRIRI T S{ORTTIAT TR = Hes=H o |
B. IRAGHHIA fowam 91 Ry
C.Fﬂﬁlﬁ@ﬁ\@m

D. BHIldeqdaicH |

E. DA< g1 =i |

14 fau Tt fdeedl o § Tel 3R &1 90 il :

1. Pad ATG C
2. FaABUGE
3. HAABUAD
4. PAACUTE

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16225]
2[Option ID=16226]
3[Option ID=16227]
4[Option ID=16228]

Sl. No.58
QBID:183058

Which one of the following texts bears dual names?

A. Thipavamsa

B. Mahavarsatika

C. Mahabodhivarsa

D. Anuttanapadavannana
E. Anagatavamsa

Choose the correct answer from the options given below :

. A and B only
.Band D only
.C and D only
. E and A only

1) 1
) 2
(3) 3
(4) 4

fagfaRad & O @F 91 9y <1 919 91er g2

A Yudyg
B. AgdYcidhl
C. HeldIfedy

D. {IAMYEUIH]
E. 3EANTIdY

1 fau 7 fasb el H ¥ el SR &1 = B :

1. $dd A 3R B
2. HAd B AR D
3. Had C 3R D
4. P E 3R A

1) 1

() 2

(3) 3

4) 4

LTS I o B

=




1[Option ID=16229]
2[Option ID=16230]
3[Option ID=16231]
4[Option ID=16232]

Sl. No.59
QBID:183059

Which of the following two constitute the Vakyadosa?

A. Anarthaka
B. Bhagnaritika
C. Hmarthaka
D. Klista

E. Apetartha

Choose the correct answer from the options given below :

. A and B only
.Band C only
. B and E only
. E and D only

1 1
(2) 2
(3) 3
(4) 4

FrgfeEd # A &9 4 3 Jaay & HI© -

A, 3Fd®H
B. Yidifd®
c. gl ®
D. faay

E. 30

i feu T fash el § 9 gl SR &1 98- Hifu :

1. $dd A 3R B
2. HAAB AR C
3. HddB 3R E
4. A E 3R D

1) 1

() 2

(3) 3

(4) 4

LS I I

=

1[Option ID=16233]
2[Option ID=16234]
3[Option ID=16235]
4[Option ID=16236]

Sl. No.60
QBID:183060




Which of the following two do not constitute the satipatthana?

A. Samadhi
B. Citta

C. Passaddhi
D. Dhamma
E. Chanda

Choose the correct answer from the options given below :

1. Aand B only
2. B and D only
3. Cand E only
4.D and C only

(1) 1
) 2
(3) 3
(4) 4

frafead # 9 o1 9 gl gfdqugH & 4T A8l 82

A. gAY
B. fad
C. wfg
D. 4/
E. 9«

=i faU 1T fadh el § U Tel 3R &l 994 Difol|

1.%dd A 3R B
2. HAd B 3R D
3. 5Hdd C AR E
4. PgAD IR C

1) 1

() 2

(3) 3

4) 4

1[Option ID=16237]
2[Option ID=16238]
3[Option ID=16239]
4[Option ID=16240]

Sl. No.61
QBID:183061

Which of the following two constitute the Nivarana ?

A. Byapada

B. Ditthi

C. Kamaraga

D. Thinamiddha
E. Patigha

Choose the correct answer from the options given below :

1. E and C only
2. E and B only
3. B and D only
4. A and D only

) 1




) 2
3) 3
(4) 4

fFafeRad # ¥ &9 9 gf 1arur & 41T g2

A, AMUlq

B. ffg

C. HTHIA
D. A=
E. Ufcy

4 faU U fash eyl § I g IR D1 A0 HIfIT :

1[Option ID=16241]
2[Option ID=16242]
3[Option ID=16243]
4[Option ID=16244]

Sl. No.62
QBID:183062

Which of the following two are the Bala?

A. Saddha
B. Vedana
C. Panna
D. Piti

E. Citta

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. Aand C only
4.D and E only

1) 1

() 2

(3) 3

(@) 4




fgifdd # 9 ®F &l 9d g2

A Yl
B. dgAl
C. goall
D. Tifd
E. ford

- f&u 1 faepedl # 9 Het IR BT 99 BIfoU :

1. $dd A 3R B
2. Had B 3P C
3. HAd AR C
4. Pad D 3R E

) 1

() 2

(3) 3

4) 4

1[Option ID=16245]

2[Option ID=16246]

3[Option ID=16247]
4[Option ID=16248]

Sl. No.63
QBID:183063

The Immeasurable states (Appamana dhamma) are:

A. Cattaro magga apariyapanna
B. Asava

C. Cattari ca Samanfaphalani
D. Nibbanam ca

E. Sankhata

Choose the correct answer from the options given below :

.A.Band C only
.A,CandD only
.A,BandE only

A.D and E only

(4) 4

SIHTUT T @ :

A. TIRT GH SYRATIAT
B. 3{1dl

C. IR 9 YrH==1H N
D. s T

E. 9g@d

i fAu U fashegl § 9 gl SR &1 98 SIS :




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16249]
2[Option ID=16250]

3[Option ID=16251]
4[Option ID=16252]

Sl. No.64
QBID:183064

Sappaccaya dhamma are :

A. Riupakkhandho, Vedanakkhandho, Sannakkhandho, Sankharakkhandha Viifianakkhandho

B. Cattaro ca mahabhiuitd catunnam ca mahabhatanam ripam

C. Cattaro magga apariyapanna, Cattari ca samaffiaphalani, nibbanam ca

D. Catusu bhimisu kusalarh, akusalam, catusu bhiimisu vipako. tisu bhiimisu kiriyabyakatam, sabbam ca
rapam.

E. Asankhatadhatu.

Choose the correct answer from the options given below :

. Aand B only
.Aand C only
. A and E only
.Aand D only
1) 1
(2 2
(3) 3
(4) 4

=T S G -

L I S I

=

A, FURGH], dEATRGH], Joollda+T, YSaRFE, [dosTurag=|

B. TRIRI 9 HETHT Ad4 = HeTHT = |

C. TR HIT URATTH, TR o YrHha, Hsa =1

D. 99 HAY $Id. Hpdd, 999 HANY faurd!, Iy HHNYg fharsamnd, ¥ 9 & 4|
E. 3g9derd |

i fAu T fahegl § 9 gl SR &1 98 HIfou :

1. hdd AUd B
2. Hdd ATG C
3. hdd AU E
4. $hdd AUd D

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16253]
2[Option ID=16254]
3[Option ID=16255]
4[Option ID=16256]

Sl. No.65
QBID:183065




The Micchattaniyata dhamma are :

A. Pafica Kammani anantarikani

B. Dvadasa akusalacittuppada

C. Micchaditthiniyata

D. Catusu bhiimisu kusalam akusalam

E. Tini akusalamulani - lobho, doso, moho; tadekattha ca kilesa

Choose the correct answer from the options given below :

.Aand D only
. Aand C only
. D and E only
. C and E only
11
() 2
(3) 3
4) 4

s g ;

A. T3 HHI TR
B. glad Sfpydfgurar

c. frrarfefgfad

D. Idg HHY U P

E. o7 3fpaerdaif-oiHT, <4l Algl: dehgl d fhad

el feu Y fashed! # & HEt IR 1 9g Bifolg :

1. HAAATID
2. Hdd ATd C
3. pdd D UG E
4 HAACUGE

1) 1

) 2

3) 3

(4) 4

W b =

=

1[Option ID=16257]
2[Option ID=16258]
3[Option ID=16259]
4[Option ID=16260]

Sl. No.66
QBID:183066

Match List I with List IT

LIST I (Buddha’s Rainy Retreat)]LIST II (Name of the Places)
A |[Fourth Rainy Retreat I |R&jagaha
B. [Fifth Rainy Retreat I1. [Masnkulapabbata
C. |Soxth Rainv Retreat III. |Tavatirhsa
D. [Seventh Rainy Retreat IV, |Vesali

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I, D-II
2. A-III, B-II, C-1V, D-I
3.A-L, B-IV., C-II. D-III
4. A-II, B-I, C-III, D-IV
(1) 1
(2) 2

3) 3




(4) 4

G 1 Y Gl I & A SISy

1 (3 BT 9UTETE) I (R T ATH)
A_|<iuTguiarg il BELE
B. (Uit aula™ 1. | Hgpausad
C. | @3l aua™ il GEIGE
D. | grqar auiag V. | gorfa
i feu U fadedi & 9 g1 IR &I 99 Hifole ;
1.A-IV, B-IlI, C-I. D-II
2.A-III, B-II, C-IV. D-I
3.A-I, B-IV, C-II, D-III
4. A-Il. B-I, C-III. D-IV
1) 1
2) 2
3) 3
4) 4
1[Option ID=16261]
2[Option ID=16262]
3[Option ID=16263]
4[Option ID=16264]
Sl. No.67
QBID:183067
Match List I with List IT
LIST I (gana) |LIST II (Examples
A |Gahadigana L tPacari
B. |Tanadigana II. [Karoti
C. |Bhvadigana 11 |Gheppat1
D. [Divadigana IV. [Dibbati

Choose the correct answer from the options given below:

1. A-IlI, B-II, C-I,
2. ATV, B-II. C-1
3.A-III, B-1, C-I,
4. A-IV. B-1. C-II.

1 1

() 2

(3) 3

(4) 4

D-IV
D-1II
D-1IV
D-IIT

GAI-1 & 1Y GI-11 DT A Sifey

Tt 1 T I

A |TErigTor M EEIG

B. |griem 1. (el

C. |arim 11 | gl

D. | feariero V. |fesaid

i fau U fab el T § GET IR &l 98- HIfSTU
1. A-III, B-II, C-I, D-IV
2.A- IV, B-II, C-I, D-III
3.A-III, B-I, C-1II, D-IV
4. A-IV, B-1, C-II, D-III

11

(2) 2

(3) 3

4) 4

1[Option ID=16265]




2[Option ID=16266]
3[Option ID=16267]
4[Option ID=16268]

Sl. No.68
QBID:183068

Match List I with List IT

LIST I(Wrong-doings (dukkata) of Anandal LIST II (Name of the wrong-doings)
A [First (dukkata) wrong-doing I. |vassikasatikam akkamitva sibbesi
B. |Second (dukkata) wrong-doing II. Imatugamehi bhagavato sarfram pathamam vandapesi
C. [Third {dukkata) wrong-doing II1. Jkatamani khuddanukhuddakam sikkhapadant
D. [Fourth (dukkata) wrong-doing V. Ina bhagavantam vaei titthatu bhagavakappam

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-I

2.A-0, B-I, C-II, D-IV

3.A-II, B-II, C-IV, D-1

4. A-I, B-IV, C-II, D-II
1) 1
(2) 2
@3) 3
4) 4
Gal-1 e 1Y G-I T A Difsg

T 1 (3T IR gFPE 3H1R0) ﬁrrﬁ@mﬂau;wa@
A |yuq gEpe 1 |aRgdEIicD g Hal ey
B. |fgdia game 1L | ATqHIE 4Tadl TH 96H gy
C. | gdia game 111 | aAT G- [Haauar-
D. [dqy game IV. [ Y7 g1 fagg Hiar &

i faU U faded § U Tl IR &l 999 HIfT :

ATV, B-II, C-III. D-I
AT, B-1, C-II, D-IV
CA-ILL B-IIL G-IV, D-I
CA-I, B-IV, C-II, D-III
1)1
(2) 2
3) 3
(4) 4

ad D

B

1[Option ID=16269]
2[Option ID=16270]
3[Option ID=16271]
4[Option ID=16272]

Sl. No.69
QBID:183069

Which one of the following is the correct sequence of the divisions of the Buddhavacana known as
Navangasatthusasana

A. Suttam

B. Veyyakaranam
C. Udanam

D. Geyyam

E. Gatha

Choose the correct answer from the options given below :




) 2
3) 3
(4) 4

FafiRad & 9 &1 U Ggad & faHeH, (578 T TIEE- & = I S SIAl 3, 1 9l hH ¢ -

A Td

B. 3R]
C.3aH

D. &

E. T

4 fau v fawegt & O Ut IR &1 987 Difoie :

1L.AD. B, E.C
2.8 B.C 1D E
3.EEC.B.D. A
4.D,E.A;B,C
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16273]
2[Option ID=16274]
3[Option ID=16275]
4[Option ID=16276]

Sl. No.70
QBID:183070

Match List I with List IT

LIST I{Books) LIST II{Authors)
[Pali Language and Literature | I [Maunice Winternitz
[Historv of Pali Literature 11 |Osaker Von Hinuber

|A Handbook of Pali Literature| II1. [Wilhelm Geiger
_ [History of Indian Literature | IV |B.C. Law

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IV., B-III, C-II. D-I
2.A-III, B-IV, C-II, D-I
3.A-I, B-II, C-III, D-1IV
4. A-II, B-I, C-IV, D-III
11
(2) 2
(3) 3
4 4
GaI-1 & 1Y Y11 BT A BT :
T (T e GICED)
A | T1iet oifoe Uus fereddy I | O fgmeieo
B | &% it uifd fereday 11 | 3% a9 fg s}
C. |Tgsdd b Uil fie sy 1L | faeg’ TR
D_|fe&l It sfisy- faed=k w | &gl of
I fau 7T fadhedt # 9 TET SR &1 98 Bifoe
1. A-IV. B-III. C-II. D-I
2.A-III, B-IV., C-II. D-I
3.A-I, B-II, C-III, D-IV

I

CA-IL, B-I, C-IV, D-II

@ 1
) 2




3) 3
(4) 4

1[Option ID=16277]
2[Option ID=16278]
3[Option ID=16279]
4[Option ID=16280]

Sl. No.71
QBID:183071

Match List I with List IT

LIST1I LIST IT
[Ahetuka kriva citta I. |Upekkhasahagatam Paficadvaravajjana cittath
|Ahetuka kusala vipaka citta] 11 [Upekkhasahagatam fignavippayvuttam sasarkharikarh)
Mohamilaka Akusala citta | II. [Upekkhasahagatarh Uddhacca Sampavuttamekari
[Kamavacara Sobhana citta | IV. [Upekkhasahagatam Santirana cittath

SREE

Choose the correct answer from the options given below:

1. A-II, B-II, C-IV, D-I
2.A-1l, B-IV, CI, D-I
3.A-I, B-IV, CII, D-II

4.A-1, B-III, C-IV, D-II
(11
(2) 2
(3) 3
4) 4
GiI-1 ' 1Y GI-11 BT e Sy -
T 1 ot 11

A | 3gd® Il = L | SUFEHE T USERIgsH oy
B. | 3gd® oud faum o | 1. | SUseeTd Soiawgy SaSaniig
C. |Aleqe® pyd Id | 1L | SUTEETd 3= SugaHS
D. | dHER givH T IV, | SUTRIIETd g=<iRy e

i fau ¢ fabedl § 9 Ug! 3R &l 994 I :

1.A-II, B-III, C-IV, D-I
2.A-1I, B-IV, CII, D-I
3.A-L, B-IV, CII, D-II
4. A-I, B-III, C-IV, D-II
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16281]
2[Option ID=16282]
3[Option ID=16283]
4[Option ID=16284]

Sl. No.72
QBID:183072

Match List I with List IT

LISTI LISTIT
A |Upatthambhanalakdhanam| [ |Silamh
B. [Sampasadanalakkhana II. [Virtyam
C. |Patitthanalaklkhanam II1. |San
D. |Apilapanalakkhani IV. |Saddha

Choose the correct answer from the options given below:

CA-IL, B-III, G-I, D-IV
AL, B-IV, CI1 D-II
ALV, B-1, CII, D-II
AL, B-I, C-II, D-IV

L b =

=N




) 1

(2) 2
(3) 3
4) 4
GaI-1 e G G- BT A Sifog
T 1 T 1T
A | SUUR{Tedgul L |di
B. | aragaaedun 1. |fafid
C. | gidgHadgu | el
D. | sfucrged@un v |Tar

i f4U 71U f[dhedi § 9 Ul 3R &l 99 HIfu :

JA-ILL B-III, G-I, D-IV
JA-IL, B-IV, C-I, D-III
ATV, B-I, C-III, D-II
JA-IIIL, B-1, C-II, D-IV
(1) 1
) 2
(3) 3
(4) 4

(o [nD

n-.

1[Option ID=16285]
2[Option ID=16286]
3[Option ID=16287]
4[Option ID=16288]

Sl. No.73
QBID:183073

Match List I with List IT

LISTI LIST II
A |Sapafifio I. [Nepakkam Vuccati pafifia
B. |Atapt II. JAdhigama updvo
C. [Nipako III. [Virivava
D. Maggo IV [V. Kammajatihetukapatisandhi pafifial

Choose the correct answer from the options given below:

JA-IV, B-III, C-I, D-II
JA-IV, B-IL, C-IIL, D-I
ATV, B-I, CII, D-II

b I =

4. A-IvV, B-II, C-I, D-II
1) 1
(2) 2
(3) 3
4 4
GaI-1 e 1Y GAI-11 BT fHd Sifsg -
Gl e 11
A | goss L |9uas goid ool
B. | afrardi I | 3ifeFTH Jural
C. | o] 111 | fafegar
D. | & IV, | Elide g dicd = T==l
i fu U fddhed| § 9 Tl IR &l 999 Hifoie ;
1. A-IV, B-IlI, C-I. D-II
2.A-IV. B-III. C-II. D-I
3.A- IV, B-I, C-II, D-II

e

ATV, B-IIL C-I, D-III
1) 1
() 2




3) 3
(4) 4

1[Option ID=16289]
2[Option ID=16290]
3[Option ID=16291]
4[Option ID=16292]

Sl. No.74
QBID:183074

Match List I with List IT

LISTI LISTII
. [Mahathera Bodhirarhsi] 1. |S3sanavathsa
[Bhilkkhu Nandapafifia | [I. [Rasavahini
. [Ratthapala I11. |Camadevivamsal
[Pafifidsami IV. |Gandhavarhsa

w] [l [ve] b2

Choose the correct answer from the options given below:

1.A-I, B-III, C-IV, D-II
2.A-1l, B-I, CII, D-IV
3.AIID, B-IV, C-II, D-I

4. A-IV, B-II, C-I, D-II

(11

2) 2

(3) 3

(4) 4

GiI-1 ' 1Y GI-11 BT e Sy -
A1 T 10

A | TR 9IRY L |aEayg

B. | fydg U= 11 | TgarieH]

C. |3gurd 111 | IHGdIad

D. | ge=rarH IV. | T*d g

i fau ¢ fabedl § O Ug! 3R &l 994 I :

1.A-I, B-III, C-IV, D-II
2.A-II, BI, CIO, D-IV
3.AIN, B-IV, CI, DI
4. A-IV, B-II, C-I, D-II
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16293]
2[Option ID=16294]
3[Option ID=16295]
4[Option ID=16296]

Sl. No.75
QBID:183075

Match List I with List IT

LISTI LISTII
A |lssa I. |Asava
B. [Bhava II. [Nivarana
C. [Vedana II1. |Sarhyojana
D. |Avijja IV. |[Satipatthana

Choose the correct answer from the options given below:

1. A-II, B-II, C-I, D-IV
2.A-1V, B-II, CJII, D-I
3.A-L B-IV, CI, D-II
AL, B-I, C-IV, D-II

=N




) 1

) 2

3) 3

4) 4

-1 P 1 T-11 BT e Bifoy
T 1 T 1T

A [z&w i EicEi

B |4g 1 |

C. |daT 111 | §41aH

D. | fdwll v |gfdugH

i f4U 71U f[dhedi § 9 Ul 3R &l 99 HIfu :

1. A-II, B-III, C-I, D-IV
2.A- IV, B-II, C-III, D-I
3.A-I, B-IV, C-II, D-II
4. A-III, B-I, C-IV, D-II
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16297]

2[Option ID=16298]

3[Option ID=16299]
4[Option ID=16300]

Sl. No.76
QBID:183076

Which one of the following is the correct sequence of the chapters of the Cullavagga

A. Panicasatikakkhandhaka

B. Bhikkhunikhandhaka

C. Satasatikakkhandhaka

D. Vattakkhandhaka

E. Patimokkhatthapanakhandhaka

Choose the correct answer from the options given below :

1.A,B,C,D.E
2.C.D,B.E. A
3.D.E.B.A,C
4.B,D.A.C.E
1) 1
) 2
(3) 3
(4) 4

fAafaRad § O geeraal & el 1 gl HH I 9T g2

A. GfdhRI=D

B. fHag[TRI=[H
C. TdgldhIRa=EH

D. qORIHSH
E. QIfqHIqag 0T+

i faU U A el § 9 Ug! IR &l 99 Bifu|

W
Omow

P ow O
O

woop
OF MY

=




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16301]
2[Option ID=16302]

3[Option ID=16303]
4[Option ID=16304]

Sl. No.77
QBID:183077

Arrange the following texts in chronological order

A. Mukhamattadipant

B. Ripasiddhi

C. Saddasaratthajalint

D. Moggallanapaiijikapadipa
E. Kaccayanavannana

Choose the correct answer from the options given below :

oI R
P
Mo 0
WA W w
ngOm
Umoug

1) 1
2) 2
(3) 3
(4) 4

FafaRad Uul o1 321 &1 951 SIesh AR Folld |
A. TEIRIGITH
B. UG
C. YIRS
D. ATeHY @9 g
E. $[g-1quuH]

i fdu 7Y fadhedi O 9 96l 9Tk D1 99 S|

1[Option ID=16305]
2[Option ID=16306]
3[Option ID=16307]
4[Option ID=16308]

Sl. No.78
QBID:183078

Which one of the following is the correct sequence of the rules of the Adhikaranasamatha-dhamma.

A. Amiulhavinayo

B. Patinia

C. Sammukhavinayo
D. Yebhuyyasika

E. Sativinayo

Choose the correct answer from the options given below :

1.ABE D E
2.C.EA BD
L D.BICAE
4.E,A,C.,B,D




(1) 1
(2) 2
(3) 3
(4) 4

fafeiRad 7 9 SifeorRgHYy-¢+ & FaH &1 Yel PH PH AT 6 -

i f&u 1 faeped! # 9 Het IR &1 99 BIfU :

1.A,B.C,D,E
2. C.EA B D
3. DB CAE
4.E,A C,B,D
1) 1
) 2
(3) 3
(4) 4

1[Option ID=16309]
2[Option ID=16310]
3[Option ID=16311]
4[Option ID=16312]

Sl. No.79
QBID:183079

The correct order of the corresponding Atthakathi-s to the Paficanikaya is :

A, Sumangalavilasing
B. Saratthappakasint
C. Papaiicasiidant

D. Paramatthajotika
E. Manorathapiirant

Choose the correct answer from the options given below :

A, C.B.E.D

1
2

o
m o
B on
- o
O

Lo

(1)1
(2) 2
(3) 3
(4) 4

TafE Tl & o H U 3P TS B A E
A gETAfaaE
B. RU WD
C. UUFgeH
D. TRAYSIdPHT
E. BRYQU

4 feu e faeedl § 9§ Hel 3R &1 994 Bifu|

o o

w0
W00

S oo
Oy

Bow
Op W

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=16313]
2[Option ID=16314]
3[Option ID=16315]
4[Option ID=16316]

Sl. No.80
QBID:183080

The correct sequencing of the previous Buddha-s after which the suttas of Nidanasamyutta of Nidanavagga of the
Samyuttanikaya have been named is

A. Sikht

B. Vipassi

C. Vessabht

D. Kakusandha
E. Kondagamana

Choose the correct answer from the options given below :

) 2
3) 3
(4) 4

gd gl S T IR SR & Mer =g & MarawT & gl B AUl fbdl 7141 ¢, 1 96l 3H ¢ -

(1) 1
2) 2
3) 3
4) 4
1[Option ID=16317]
2[Option ID=16318]

3[Option ID=16319]
4[Option ID=16320]

Sl. No.81
QBID:183081




Arrange the Sobhana Cetasika-s in order

A. Saddha
B. Alobho
C. Sati
D. Otappa
E. Hiri

Choose the correct answer from the options given below :

LACEDB
2.C.A.E.B,D
3.A,C.B.D,E
A.AB.CID.E

(1) 1

(2) 2

(3) 3

4) 4

IHA Jd® Bl HHEG DIOTE|

A. YHg

B. AdIHI

C.gfd

D. 3dyg

E.BIR
4 fau 7 fasmedi A O Tot 3k &1 904 DIy |
1.A.C.E.D.B

L CAERD

3ACBDE

4.A,B,C,D,E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16321]
2[Option ID=16322]
3[Option ID=16323]
4[Option ID=16324]

Sl. No.82
QBID:183082

According to Lakkhanapafiho correct sequence of Paicindriya is :

A. Viriyindriya

B. Satindriya

C. Saddhindriya
D. Samadhindriya
E. Pafiflindriya

Choose the correct answer from the options given below :

W R
>» 00
CReIcEs
m W W W
wmp g
oRwNesNes!

@) 1
) 2




3) 3
(4) 4

AaEUYSg] & HTUR URI<a 1 98 HH ¢ -

1.C,A,B,D.E
2.C.D,B.A.E
3.A,C,B,E,D
4 A.D.E.B,.C

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=16325]
2[Option ID=16326]
3[Option ID=16327]
4[Option ID=16328]

Sl. No.83
QBID:183083

Arrange the Safifiojanani in order as mentioned in Duka Matika of Nikkhepakanda of Dhammasangani :

A. Kamaragasafniiojana

B. Ditthisafifiojana

C. Vicikicchasaiifiojana

D. Silabbataparamasasafifiojana
E. Bhavaragasaiifiojana

Choose the correct answer from the options given below :

et

cRelcle

CwnU
SR=N=l

W
> p o
0mm e

1) 1
(2) 2
3) 3
(4) 4

IS & HaEUS TS & g& Alfde! | afiid Haiel & $H I ogaied o -

D. -l-?lmmduﬂlHtHi—l'lHUIr!
E. YaIRTgoH

i feu 7Y fameti § 9 9el 9Tk D1 99 S :

By C;DyACE

1
2

>
MO
SRS
noo
o0 mm

F Lol

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16329]




2[Option ID=16330]
3[Option ID=16331]
4[Option ID=16332]

Sl. No.84
QBID:183084

Arrange the following texts in the chronologically ascending order :

A. Gandhavamsa

B. Samgitivamsa

C. Mahavamsa

D. Hatthavanagallaviharavamsa
E. Mahabodhivamsa

Choose the correct answer from the options given below :

IJ'—‘
QMg
Mo w e
&-n'm'tj

s B
AT
. B, A,
.D.B

o

1)1
(2) 2
(3) 3
(4) 4

FrafcRETul &1 36! TE o1 & 96d HHIR T4 -

B@ﬂﬁw

1[Option ID=16333]
2[Option ID=16334]
3[Option ID=16335]
4[Option ID=16336]

Sl. No.85
QBID:183085

Arrange the following Ariya-atthangikomaggo in ascending order

A. Sammavayamo
B. Sammakammanto
C. Sammasati

D. Samma-ajivo

E. Sammavaca

Choose the correct answer from the options given below :




MR- MR &b el Igd HH b HTHAR Hof -

=i faU T fadh el § U Tel 3R &l 999 Difol|

1.
2.
3,

gmw g
> W Op
mEpr0

D0
NOomMmw

o

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16337]
2[Option ID=16338]

3[Option ID=16339]
4[Option ID=16340]

Sl. No.86
QBID:183086

Given below are two statements :

StatementI : All the Buddhas take birth in the ‘Bhadda-Kappa’
Statement II : Gautama the Buddha was born in the ‘Bhadda-Kappa’
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
(2) 2
3) 3
4) 4

EEEZI AT I

DY : Gl g BT Y- H glal g

DY : TNIH-GG DI T “HE-Hu’ H g3 41|

SIS BYA & 3Tclld H, 14 [§T MU [ddhedl # 9 a8 Iugdd IR &I 90 DIforg :

1. YT AR IS el &
2. FYF 1 R I SHI ITaAd &
3. HUT IG5, A Y I T9d ©
4. HYF 177dd g, dfdbd HUT L I8! §

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16341]
2[Option ID=16342]
3[Option ID=16343]
4[Option ID=16344]

Sl. No.87
QBID:183087




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Kaccayana Vyakarana is divided into five Kappa-s.

Reason (R): Under the heading of Namakkappa, Karaka, Samasa and taddhita are included.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
1) 1
(2) 2
(3) 3
4 4

= ST HUATEU ML : U SHHBHUT Assertion (A) b FY H [ARIT ¢ 1 GUR IUdb HRUI Reason (R) S FY
H:

ISMUDYT A : F=HT AH0 UlT HIi A fqHad

PRUIR : AHGH & I<FId R, AN R dfed gEIfad gl
ST PYF D 3Tl H, 14 fT T [dhedi # 9 a8 Iugad IR &I 99 Siforg :

(A) 3R (R) SFT W1 § 3R (R). (A) Bl Hg! ARAT G|
.(A) 3R (R) &Fi Tal &. dfd 3R (R), (A) B! Hel oIRAT ol 6|
.(A) Tel g, Al (R), TSI TR &
.(A) T8I el g, 9fd (R) Tel B

[TV o R

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16345]
2[Option ID=16346]

3[Option ID=16347]
4[Option ID=16348]

Sl. No.88
QBID:183088

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Kamasukhallikanuyogo ca attakilamathamuyogo ime dhamma ariya atthasambhita

Reason (R): Dveme anta pabbajitena na sevitabba
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
11
(2 2
(3) 3
4) 4




A9 A HYT ST B : U HUBYU Assertion (A) D =0 ¥ {4 g o GERI 3Hb HRUT Reason (R) b &Y
:E

DY A DAGECABAN = b AHUIN 3H FHT 3RAT ST

DRUR : gH 3T Tsafoid 7 HlddsaT|
JWRIGd HY & 3MTclid H, =i ST MU [dh el H 9 Iad Iugad IR DI 99+ DIfog :

L (A) 3R (R) ST TSI © 3R (R), (A) PI UG AR B |

.(A) 3R (R) &I Tal ©, Wt (R), (A) D1 Tg! I ol ol
L(A) T8l 8, afd T (R) Wel AT B

.(A) T8l Tel &, 9fth (R) TRl B

1 1
(2) 2
(3) 3
(4) 4

L B o R

I

1[Option ID=16349]
2[Option ID=16350]
3[Option ID=16351]
4[Option ID=16352]

Sl. No.89
QBID:183089

Given below are two statements :

StatementI : The Patipadasuttam of the Nidanasamyutta of Nidanavagga of the Samyuttanikaya mentions
Anuloma Paticcasamuppada a Micchapatipada
Statement II : In that very Sutta the Patiloma Paticcasamuppada has been called as Sammapapatipada

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement T and Statement IT are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement IT is correct
11

(2) 2

3) 3

4) 4

EIE G RIE A G I

DU 1 - JgAHDEUd & Fera i & Fergd & ufeueryd # sraM ufc=aquie o fFRaraiegal
Y offtifgd fpar g

YT : I g H uledH fe=gHuIE Bl e yal gl 7 g |
JWRIGd HY & 3Tl |, A AU MU fdh el # 9 gad Iugad 3R DI 99+ DIy :

1. HYT IR I SHI 98l g
2. HYT IR M SHI Tad § )
3. PYT 1! 6. i P I 7Teld §
4. HYT 1A g, dich-l DY IT el o
1) 1
) 2
(3) 3
4) 4

L I

=

1[Option ID=16353]
2[Option ID=16354]
3[Option ID=16355]
4[Option ID=16356]




Sl. No.90
QBID:183090

Given below are two statements :

StatementI : Karuna mudita and paififiindriya are included under Sobhana Cetasika.
Statement [ : Upekkha is one of the Sabbacittasadharana Cetasika.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct
1
(2) 2
(3) 3
4) 4

CIERAEZIC A G

DY : HIHA AdED & 3avid BN, Jedl IR yfosii< miid g

DY : IURA], YoaaHIUR] Adeh] H UD ¢ |
JWRId BU & 3Tl H, - [$T MU [dshedl # 9 a9 Iugad Ik T 98- Hiforg -

1. PUTI SR I SHI Tgl &
2. HYF 1 R I SHI T &
3. HYF 1 Yol o, i YA I17Ad &
4. FYT 170 &, AfPd FUT L T6! §

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16357]
2[Option ID=16358]

3[Option ID=16359]
4[Option ID=16360]

Sl. No.91
QBID:183091

Read the following passage carefully and answer the questions that follow:

Atha kho, brahamana, purohito brahamano rafo mahavijitassa pubbeva yanna tisso vidha desesi - (1) siya kho
pana bhoto rafifio mahayaniam yitthukamassa kocideva vippatisaro-maha vata me bhogakkhandho
vigacchissati’ti, so bhotarafifia vippatisaro na karaniyo (ii) siya kho paha bhoto raiifio mahayafilam yajamanassa
kocideva vippatisaro - maha vata me bhogakkhandho vigacchati’ti, so bhota rafifio vippatisaro na karanivyo (iii)
Siya kho pana bhoto rafifilo mahayaiifiaih yitthassa kocideva vippatisaro - maha vata me bhogakkhando vigato’ti,
so bhota rafnna vippatisaro na karaniyo’ti Ima kho, brahamana, purohito brahamano rafno mahavijitassa pubbeva
yaiiia tisso vidha desesi.

[&T T T 1 Yde Ui SR AT 39 UR SHTETRd Uil & IR G -

Y @I, STIvT, QRifgdl STeTo o<l AgIafoiaed Ysid gooi foredl faur ¢afd - (i) Rar @t o= Hidl el
HeTIsi Ricghried if<ed [dufcyr] - Hel dd # HFTRd=11 faif=oeadi-fd, & Hidr Yool fqufedri =1
RO (if) FT T O HIdT Is=il AgTh=s! ToH™Y Pifelad [AfeaRT - HeT ad A HieRe fam=sdl fa
I HIdT To=TT f[AuieHRT =1 SN (iii) Rar @l o Hidl sl Agies] g Sifddd fqufcary - Agrad A
HITeRa=IT fATTa . ST HidT To=i fqwicaRt = sviiaria | A1 @i, sremr, qRIfgd SIgio Issi Agidfoas
Ysad ool fored! fqem Safd|

This passage belongs to :

1. Kuitadanta - Sutta

2. Brahmajala Sutta

3. Vasettha Sutta

4. Kasibharadvajasutta




(1) 1
(2) 2
(3) 3
(4) 4

1. Hee=d gd
2. ST G

3. alﬁg gd

4. DIRYAHRGIS gd
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=16361]
2[Option ID=16362]

3[Option ID=16363]
4[Option ID=16364]

Sl. No.92
QBID:183092

Read the following passage carefully and answer the questions that follow:

Atha kho, brahamana, purohifo brahamano raiifio mahavijitassa pubbeva yanfa tisso vidha desesi - (1) siya kho
pana bhoto rafifio mahayaniam yitthukamassa kocideva vippatisaro-maha vata me bhogakkhandho
vigacchissati’ti, so bhotarafifia vippatisaro na karaniyo (ii) siya kho paha bhoto raiifilo mahdyafilam yajamanassa
kocideva vippatisaro - maha vata me bhogakkhandho vigacchati’ti, so bhota rafifio vippatisaro na karaniyo (iii)
Siya kho pana bhoto rafifilo mahayafiai yitthassa kocideva vippatisaro - maha vata me bhogakkhando vigato’ti,
so bhota ranna vippatisaro na karaniyo’ti Ima kho, brahamana, purohito brahamano ranio mahavijitassa pubbeva
yaifia tisso vidha desesi.

& 2 7= 1 eHYdeh UGy SR deuglc 39 UR SHTuTRd Weil & IR & -

1Y G, ST, QI SITgToT o=l ATafoides Yssid gooi foredl faur <afd - (i) Rar @t o= Hidl Tesil
HeTIsi Ricgh ey if<ed [qufcyr] - Hgl dd A HFTRd=] faif=oeadi-fd, & Hidr Yool fqufedri =1
DO (i) T @l o Hidl ool HeTgosi a9y Blfddd [aufeuRT - AgT ad H HITReT farr=sdi fd
1 HIdT T f[AuieHRT =1 Sl (iii) Ram @l o Hidl Is=0 Agriesi g3y Sifddd f[qufcary - Agrad A
HiTeReT fara-a, 91 Hidr Yen famfeari 7 Seofigh-ia | gar @, sieron. gRIfgdl sreion Ieoi agifdforasy
Jedd ool faed! faen Safd|

Identify the case-ending and number of the word 'yafina' :

1. Pathama bahuvacaha
2. Dutiya ekavacana
3. Paficami ekavacana
4. Dutiya bahuvacana
1) 1
(2) 2
3) 3
4 4

oIl Weg, DI [GHlad 3R 9 BT IgaH

1. YHI Sgde
2. gfa1 Uhaa
3. G3HI UdhaaH
4. i Igae

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16365]
2[Option ID=16366]




3[Option ID=16367]
4[Option ID=16368]

Sl. No.93
QBID:183093

Read the following passage carefully and answer the questions that follow:

Atha kho, brahamana, purohito brahamano rafo mahavijitassa pubbeva yanna tisso vidha desesi - (1) siya kho
pana bhoto rafifio mahayaniam yitthukamassa kocideva vippatisaro-maha vata me bhogakkhandho
vigacchissati’ti, so bhotarafifia vippatisaro na karaniyo (ii) siya kho paha bhoto raiifio mahayafilam yajamanassa
kocideva vippatisaro - maha vata me bhogakkhandho vigacchati’ti, so bhota rafifio vippatisaro na karanivyo (iii)
Siya kho pana bhoto rafifilo mahayaiifiaih yitthassa kocideva vippatisaro - maha vata me bhogakkhando vigato’ti,
so bhota rafina vippatisaro na karaniyo’ti Ima kho, brahamana, purohito brahamano ranio mahavijitassa pubbeva
yaifa tisso vidha desesi.

[&T TR T2 1 Y UiU SR AT 39 UR SHTEMRd Uil & IR G -

31 I, SITRTUT, YRITgdl SITgTull Ys=i Agafoiass Ysad oo foredl faer Safd - (i) Ran @t g Hidl =i
HeTIssl Ricgh ey lif<ed [qufeyr] - Hgl dd # HFTRd=11 farif=oeadit-fd, & Hidr Yool fqufedri =1
RO (if) FT T O HIdT Is=il AgTh=s! ToH™Y Pifelad [AfeaRT - HeT ad A HieRe fam=sdl fa
I HIdT To=TT f[AuieHRT =1 SN (iii) Rar @l o Hidl sl Agies] g Sifddd fqufcary - Agrad A
HITeRa=IT fATTa . ST HidT To=i fqwicaRt = sviiaria | A1 @i, sremr, qRIfgd SIgio Issi Agidfoas
Ysad ool fored! fqem Safd|

The word siya is

L. Jgs, sattami
. Jas, parokkhatita

]

%]

. \/;s, paficamil

- \/z_ls, Hiyatani atita
(1)1

(2) 2

3) 3

(4) 4

T 2ree §

1. o e, T
T, T

=

|

:L\'L)J

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=16369]
2[Option ID=16370]

3[Option ID=16371]
4[Option ID=16372]

Sl. No.94
QBID:183094




Read the following passage carefully and answer the questions that follow:

Atha kho, brahamana, purohito brahamano rafifio mahavijitassa pubbeva yanina tisso vidha desesi - (1) siya kho
pana bhoto raiifio mahayaiiam yitthukamassa kocideva vippatisaro-maha vata me bhogakkhandho
vigacchissati’ti, so bhotaraffa vippatisaro na karaniyo (ii) siya kho paha bhoto raifio mahayanfam yajamanassa
kocideva vippatisaro - maha vata me bhogakkhandho vigacchati’ti, so bhota rafifio vippatisaro na karaniyo (iii)
Siya kho pana bhoto rafifilo mahayaiifiam yitthassa kocideva vippatisaro - maha vata me bhogakkhando vigato’ti,

so bhota rafifa vippatisaro na karaniyo’ti Ima kho, brahamana, purohito brahamano rafifio mahavijitassa pubbeva
yaiifia tisso vidha desesi.

& T T2 DT AFYdD Ui AR T 39 TR TR Ui & IR G

3 Gl STV, QRifgdl SITeTol Tosil Agiafoided Yssid gooi foredl faer ¢afd - (i) Rar @t o= Hidl et
HeTI=oi Ricgh ey dlificd [aufeyr] - Hel dd A HFTRd={1 farf=osgdt-fd, J1 Hidr Toei fqufedri
DIl (i) T @l o= HIdT Tooll HgTeo! goH™Y Difdd [qufc ARl - Hgr ad A HiTee= far=sdi fa
1 HidT Yool f[aufed Rl =1 ®rufla | (i) Rrar @ o Hidl ol #gssl e difbdd faufedrl - Agrad A
HITeReT T ia, 1 Hiar o= fawie Rl =1 o | gA1 @, Sieior, gRIfgd! sieion Is=1 Hgifdforasy
Yoad ool fored! faem <afd|

The meaning of Vippatisara is

1. to infer
2. to know
3. to inform
4. to regret

1) 1

(2) 2

(3) 3

4 4

fomfearR @13

1. ST A
2. ST

3. HI%EEI CRE
4. UMY -
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16373]
2[Option ID=16374]

3[Option ID=16375]
4[Option ID=16376]

Sl. No.95
QBID:183095

Read the following passage carefully and answer the questions that follow:

Atha kho, brahamana, purohito brahamano raiiio mahavijitassa pubbeva yaffa tisso vidha desesi - (i) siya kho
pana bhoto raiifio mahayaifiam yitthukamassa kocideva vippatisaro-maha vata me bhogakkhandho
vigacchissati’ti, so bhotarafifia vippatisaro na karaniyo (ii) siya kho paha bhoto rafifio mahayanflam yajamanassa
kocideva vippatisaro - maha vata me bhogakkhandho vigacchati’ti, so bhota rafifio vippatisaro na karaniyo (iii)
Siya kho pana bhoto rafifio mahayaffam yitthassa kocideva vippatisaro - maha vata me bhogakkhando vigato’ti,
so bhota raiifia vippatisaro na karanivo’ti Ima kho, brahamana, purchito brahamano rafiio mahavijitassa pubbeva
yaiina tisso vidha desesi.

T 73 T2 BT Y deh UfgU SR deigic 38 UR STTRd Ui & IR <

Y I, §TeIvT, QRIfgdl SITgTo o<l Heiafoidey Yssid TooT foredl faur <af¥ - (i) Rar @t o= Hidl Tesil
HETIS! e gh ey difed [duicyR] - Hel dd H HRTRd=IT [aaTi=owedi {d, 91 Hidr Ie=i fquicarl 7
DO (ii) R @l O Hidl Xool HeTdoo! asiH™Y bifdad [aufeur] - #gT ad H HivRa=1 farr=sdl fd
I HIdT To=T f[AuieHRT =1 Huial (iii) R¥m @ o Hidl sl Agiies| g3y Sifddd fqufcary - Agrad d
VTRa=IT faTTar fa, 1 i1 Y= famfeaRy 3 HRofarfa | 01 @, STeon, QR SIiol Yol Heldafraed
Ysad ool foredl faen Safd|




The word bhota is the use of this vibhatti :

1. pancami
2. tatiya
3. Pathama
4. Dutiya
1) 1
2) 2
3) 3
4) 4

Il Xec 39 [qHTRT T W & -

RSL]
2. dfean
. T3H

g

1) 1
(2) 2
(3) 3
(4) 4

S e

1[Option ID=16377]
2[Option ID=16378]
3[Option ID=16379]
4[Option ID=16380]

SI. No.96
QBID:183096 .
Read the following passage carefully and answer the questions that follow:

Sadhu kho tvam. mahardja, ratham janasi| evameva kho, maharija, mayham pi kese ca paticca, lome ca paticea ... matthake
matthaluigar ca paticea. ripati ca paticea. vedanam ca paticca. safifiarh ca paticca. sankhare ca paticea, vififlanaih ca paticea, 'Nagaseno'
ti sarikhd samafifia pafifiatti voharo namamattam pavattati. Paramatthato panetha puggalo nupalabbhati. Bhasitam petam maharaja.
vajiraya bhikkhuniya bhagavato sammulkha

Yatha hi anigasambhara, hoti saddo ratho iti.
Evam khandhesu santesu. hot1 satto t1 sammuti’ti.

Acchariyam. bhante nagasena, abbhutam bhante nagasena. Yadi buddho tittheyya sadhukaram dadeyya
TaU T8 eI B AHYGP UieU 3R e ATd 59 UR ST WYl & IR G -

q1e Gl Ud HERI, ¥4 G | UaHd @1, HeRIe, 1% [0 53 9 ufe=, 99 9 ufd= ... ieid, Aydy 9 ufc, &4 9 uid=, da
T ufe=, Heol 9 ufe=, 95@R 9 ufe=, fassil 9 gfe=, e fd Ssrar es=i Tosifi digRT e Tawid | IRE! T
T TaesR | M S HeRTS, afRT FreRgfra ATad) S -

g1 g IR, §ifd Tgl i 3id|

@@?&gﬂ?ﬂj gifd Tt fd Fwgdi-fa

3R, Y= AFTEA, S@d U T8 313 g [a53 9IYeR 33|

In the passage the word “puggala’ indicates

1. Rapa
2. Vedana
3. Atta
4. Anatta
1) 1
) 2
(3) 3
(4) 4

SR H T Ueg 1A HIAT G -

1. =9
2. deA1
3. 3T
4. 3

1

) 2

3) 3

@) a




1[Option ID=16381]
2[Option ID=16382]
3[Option ID=16383]
4[Option ID=16384]

Sl. No.97
QBID:183097 .
Read the following passage carefully and answer the questions that follow:

Sadhu kho tvam. maharaja, ratham janasi| evameva kho, maharaja, mayhar pi kese ca paticca, lome ca paticea ... matthake

matthaluigarh ca paticea. ripati ca paticea. vedanam ca paticca. safifiarh ca paticca. sankhare ca paticea, vififlAnarh ca paticca, Nagaseno'
ti sankha samafifia pafifiatti voharo namamattam pavattati, Paramatthato panetha puggalo nupalabbhati. Bhasitam petam maharaja,
vajiraya bhikkhuniya bhagavato sammukha

Yatha hi angasambhara, hoti saddo ratho iti,
Evam khandhesu santesu, hoti satto ti sammuti’ti.,

Acchariyam. bhante ndgasena. abbhutam bhante nagasena. Yadi buddho tittheyya sadhukaram dadeyya
T30 T eI B AHYEP UieT 3R e HTd 59 UR ST Uyl & IR G -

q1e @1 Ud HERIH, ¥4 SR | UaHd @1, HeRIe, 1% [0 63 9 ufc=, 99 9 ufd=d ... fieid, AYdy 9 ufcs, U 9 uid=, da
9 Ufcs, Hool 9 Ufc=, 95@R 9 Ufc=, fasaii 9 gfes, TR fd Serar IHe=I1 st digRT "AHHE Udtid | IREC! I
el aasHfd | YR U TRRT, aformg fiegf=ar «radl JageEr -

g1 g FEHRI, §ifd Tgl i 3id|

Td @Y =g, gifd Il T wwgdifd i

=3, Hwd ANTEA, 3fed H=dl ATTEA | TfE g5l fag e AR g6 |

The case-ending of the word ‘Nagasena’ is :

. Alapana
. Pathama
. Tatiya

. Chatthi
11

(2 2

(3) 3

4) 4

IR g #H faufa B :

W I =

=

1. T
2. 9aH]
3. diaar
4.951

1) 1

() 2

(3) 3

4) 4

1[Option ID=16385]
2[Option ID=16386]
3[Option ID=16387]
4[Option ID=16388]

Sl. No.98
QBID:183098




Read the following passage carefully and answer the questions that follow:

Sadhu kho tvam. maharaja, ratham janasi| evameva kho, maharaja, mayhar pi kese ca paticca, lome ca paticea ... matthake
matthalusigar ca paticca. ripati ca paticca. vedanam ca paticca. safifiarh ca paticea. sankhare ca paticea. vififidnam ca paticea, Nagaseno'
ti sankhi samafifia pafifiatti voharo nimamattam pavattati. Paramatthato panetha puggalo nupalabbhati. Bhasitam petam maharaja,
vajiraya bhikkhuniya bhagavato sammulkha

Yatha hi angasambhara, heti saddo ratho iti,
Evam khandhesu santesu. hoti satto ti sammuti’t1.

Acchariyam. bhante nagasena, abbhutam bhante nagasena. Yadi buddho tittheyya sadhukaram dadeyya
T30 T eI BT AHYGP UiGT 3R e HTd 58 UR SR Wyl & I G -

q1e @1 Ud HERIH, ¥4 GIFIRT | UaHd @1, HeRIS, 1% 9 5 9 uic=, diF 9 ufd=d ... fieid, AYdy 9 Ulcs, &4 9 Uid=, da
9 Ufcs, Hool 9 Ufc=. 95@R 9 Ufd, fasii 9 gies, TR fd S IHs=I1 st digRT "AHEd Uddid | IRE ! T
guTe! aaeHfd | YT Ud TRRTS, aformg fieRgf-ar «radl JageT -

g1 g SIE R, §ifd gel 2l 5|

Ud T g, gif ol fd gt fan

=3, Hwd ANTEA, 3fed H=dl ATEA | TfE g8l fag e AIYeR g6 |

‘The word' daddeya’ in the passage is :

1. Past participle
2. Present participle
3. Future participle
4. Optative

1) 1

(2 2

(3) 3

(4) 4

ISR H G Re& g -

1. Y PIfeTP P
2. TAHFDID Ped
3. Hia=eTfes Fa<d
4, gt

1) 1

) 2

(3) 3

(4) 4

1[Option ID=16389]
2[Option ID=16390]
3[Option ID=16391]
4[Option ID=16392]

Sl. No.99
QBID:183099
Read the following passage carefully and answer the questions that follow:

Sadhu kho tvath. maharaja, ratham janasi| evameva kho. maharaja, mayhar pi kese ca paticca, lome ca paticea ... matthake
matthaluigar ca paticea. ripari ca paticea. vedanam ca paticea, safifiar ca paticca. sankhare ca paticea, viifidnaih ca paticea, Nagaseno'
ti sanikha samafifia pafifiatti voharo namamattam pavattati. Paramatthato panetha puggalo nupalabbhati. Bhasitam petam maharaja,

vajiraya bhikkhuniya bhagavato sammukha

Yatha hi afigasambhara, hoti saddo ratho iti,
Evam khandhesu santesu. hoti satto ti sammuti’ti.

Acchariyam. bhante nigasena, abbhutah bhante nigasena. Yadi buddho tittheyya sadhukaram dadeyya
a7 TR T eagd e feT SR e T 59 R SR Uyl & TR 4 -

Te) 1 Ud HERIH, ¥ WHIRT | Tatid @i, HeRIS. 1% [0 &4 9 uld=, | 9 ufd= .. iefd, Ay 9 ulcw, &4 9 uid=. da
9 Ufcs, Houl 9 Ufc=, 956R 9 Ufic=, fas=ii 9 ies, TR fd S IHs=i Ussiid digRT e Uadid | IREMd! I
QATE! TaeisHid | HTTEd Ud HeRTS. afoRm fiegfrar «rad) JwgaEl -

g7 8 SRR, Bifd Tel U1 S|

U4 GHg iy, gif ail fa gt fan

S=FRY, Hwd ANTEA, 3fed H=dl ATTEA | IS g1 fdg e GIYPR 6 |




“yatha hi angasambhara. hoti saddo ratho iti” the verse originally found in :

1. Milindapaiha
2. Dighanikaya
3. Samyuttanikaya
4. Jataka

1) 1

(2 2

3) 3

(4) 4

TT g SRR, BIfcT TeT X 3f |

g YT Geld: Hel W gidl © -

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=16393]
2[Option ID=16394]

3[Option ID=16395]
4[Option ID=16396]

Sl. No.100
QBID:183100 .
Read the following passage carefully and answer the questions that follow:

Sadhu kho tvam, mahardja, ratham janasi| evameva kho. maharija, mayham pi kese ca paticca, lome ca paticea ... matthake
matthaluigar ca paticea. ripari ca paticea, vedanam ca paticeca. safifiarh ca paticca. sankhare ca paticca, viifianarh ca paticea, Nagaseno
ti sarikha samafifia pafifiatti voharo namamattam pavattati, Paramatthato panetha puggalo nupalabbhati. Bhasitam petam maharaja.
vajiraya bhikkhuniya bhagavato sammulkha

Yatha hi anigasambhara, hoti saddo ratho iti,
Evam khandhesu santesu. hot1 satto t1 sammuti’ti.

Acchariyam. bhante nagasena, abbhutah bhante nagasena. Yadi buddho tittheyya sadhukaram dadeyya
U T T B UGS UieU 3R e ATd 59 UR ST Wyl & IR G -

7¢I Ud HERI. I I | Tatid El. TeRIS. W% [0 58 9 ufe=, div 9 ufe= ... iefd, Tydy 9 ufe, U 9 ufd=. de
9 ufc, Feol 9 Ufc=, U5@R 9 ufc=, fassii 9 gfe=, IR fd T IHs=i o=t digRT =AHH gatid | IREd! 0
QETE! aasHid | 4T Ud AR, oy fHegfan «iadl JwgeET -

7T 13 SrganR, Bifd g1 Wi 3

@@@gﬂ%ﬁ il Tl fd gegedfa

S=FIRY, Ul ATEA, 3fed Y=l AT | TS g1 g e AYPR A |

In the passage the meaning of the ‘santesu’ is :

1. Amalgamation
2. Appeasement
3. Sage
4. Becoming

1) 1

(2 2

3) 3

(4) 4

SR H Fi’ Ueg DI 34 8

1. g1l
2. R0id AT
3. 91

4. 3TH gl




(1)1
) 2
(3) 3
(4) 4
1[Option ID=16397]
2[Option ID=16398]

3[Option ID=16399]
4[Option ID=16400]

Sl. No.101
QBID:7201001
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% () 22%
B 16,000 () 33% 27%
C 15,000 32% 36% ()
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenevef required.
AR QT A-E UTd Tiidl 1 SaTg! SR 3940 93W (M), AR (F) SR gioisx & HiiRid fador &1
Sicll § 1 59 AT | f4U 7T sl & SMYR IR WY BT IR allold:

3HTETE] T UHIR faavon
o - faa=or Ofd=d (%
" od M F . T
A 12.000 46% {-) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% -
D 24,000 36% -} 20%
E 25,000 (-) 30% 25%
Te: diferet & e O &I (-) GRI G311 11 § forees] uRead HTaRushdi-aR fadl I g
Transgender population in Village - A is % of the female population in Village - B.
1.75
2.50
3:33:33
4. 66.66
1 1
(2) 2
3) 3
4) 4
Tifa A ZiEeieR I SMard! Tifa B H Afgersi &1 sfardl &1 %l
1.5
2.50
3.33:33
4. 66.66
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16401]
2[Option ID=16402]
3[Option ID=16403]
4[Option ID=16404]

Sl. No.102
QBID:7201002




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% () 22%
B 16,000 (-) 33% 27%
C 13,000 32% 36% ()
D 24,000 36% (-) 20%
E 25,000 ) 30% 25%

Note : In table (-) denotes missing value (%6}, which is to be computed whenever required.
AR QT A-E UTd Tiidl 1 SaTg! SR 3940 93W (M), AR (F) SR gioisx & HiiRid fador &1
Sicll § 1 59 AT | f4U 7T sl & SMYR IR WY BT IR allold:

TS} B JTHAR fadu

o - foeRu ufcr=rd (oe)

i W M F T
A 12,000 46% (=) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-
D 24,000 36% (-) 20%
E 25,000 (-) 30% 25%

ie: arfere! § ad 94 &1 () §RI 3101 741 § e URS - HaRadhdlaR [Gdl I g |

Find the difference between male population in Village - E and female population in Village - D.

1. 890
2. 830
3. 690
4. 610
(1)1
(2) 2
3) 3
(4) 4

Tfd E # gl &1 3Ed] $R 7ifa D # Afgars] & srardl & &g B 3R fda g2

1. 890
2. 830
3. 690
4. 610
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16405]
2[Option ID=16406]
3[Option ID=16407]
4[Option ID=16408]

Sl. No.103
QBID:7201003




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% () 22%
B 16,000 (-) 33% 27%
C 13,000 32% 36% ()
D 24,000 36% (-) 20%
E 25,000 ) 30% 25%

Note : In table (-) denotes missing value (%6}, which is to be computed whenever required.
AR QT A-E UTd Tiidl 1 SaTg! SR 3940 93W (M), AR (F) SR gioisx & HiiRid fador &1
Sicll § 1 59 AT | f4U 7T sl & SMYR IR WY BT IR allold:

TS} B JTHAR fadu

o - foeRu ufcr=rd (oe)

i W M F T
A 12,000 46% (=) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-
D 24,000 36% (-) 20%
E 25,000 (-) 30% 25%

ie: arfere! § ad 94 &1 () §RI 3101 741 § e URS - HaRadhdlaR [Gdl I g |

Find the ratio of population of transgenders in Village - C to population of males in Village - B.

1.9:10
2.8
3.34
4.27:32
(1)1

(2) 2

3) 3

(4) 4

Tifa ¢ T giois SR 71ia B © qoWi &1 S1adl &1 SUa J1d Siford |

0

[ SR FEIES RN ]
= o0 =

W

27232

1) 1

(2) 2

3) 3

4) 4

1[Option ID=16409]
2[Option ID=16410]

3[Option ID=16411]
4[Option ID=16412]

Sl. No.104
QBID:7201004




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% () 22%
B 16,000 (-) 33% 27%
C 13,000 32% 36% ()
D 24,000 36% (-) 20%
E 25,000 ) 30% 25%

Note : In table (-) denotes missing value (%6}, which is to be computed whenever required.
AR QT A-E UTd Tiidl 1 SaTg! SR 3940 93W (M), AR (F) SR gioisx & HiiRid fador &1
Sicll § 1 59 AT | f4U 7T sl & SMYR IR WY BT IR allold:

TS} B JTHAR fadu

o - foeRu ufcr=rd (oe)

i W M F T
A 12,000 46% (=) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-
D 24,000 36% (-) 20%
E 25,000 (-) 30% 25%

ie: arfere! § ad 94 &1 () §RI 3101 741 § e URS - HaRadhdlaR [Gdl I g |

What is the difference between number of males and females in Village - A ?

480
L1920
. 1120
. 1680
(1)1
(2) 2
3) 3
(4) 4

Tiid A H gou1 SR Afgarsl @1 9= & 49 $1 3R a1 g2

[

N 51

1. 480
2.1920
3. 1120
4. 1680
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]

Sl. No.105
QBID:7201005




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% () 22%
B 16,000 (-) 33% 27%
C 13,000 32% 36% ()
D 24,000 36% (-) 20%
E 25,000 ) 30% 25%

Note : In table (-) denotes missing value (%6}, which is to be computed whenever required.

AR QT A-E UTd Tiidl 1 SaTg! SR 3940 93W (M), AR (F) SR gioisx & HiiRid fador &1
it § 1 50 difera & U 7T Siasl & SMYR IR WY $T 3R alfold:

3HTETE] T UHIR faavon
o faa=or Ofd=d (%
i P eI y S
A 12.000 46% {-) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-
D 24,000 36% -} 20%
E 25,000 (-) 30% 25%
ie: arfere! § ad 94 &1 () §RI 3101 741 § e URS - HaRadhdlaR [Gdl I g |
Total number of females in Villages B and D together is % more than the number of males in Village
-C.
1.275
2,225
3.125
4.175
1)1
(2) 2
3) 3
4) 4
Tl B 3R D &FI ¥ TS Iy Afearsh &1 g S 7id ¢ 0 g3yl 1 S8 ¥ a1 wiawr i g2
1.275
2:225
3125
4.175
1)1
(2) 2
3) 3
(4) 4

1[Option ID=16417]
2[Option ID=16418]
3[Option ID=16419]
4[Option ID=16420]

Sl. No.106
QBID:7201006

In ADDIE model of instructional design framework, the letters I and E in the acronym ADDIE pertain to

1. Identification and Evaluation
2. Implementation and Evaluation
3. Identification and Examination
4. Implementation and Examination
(1) 1
(2) 2
(3) 3
(4) 4




&W%%EWFW$ADDHE (TSIStamss) Alsa ¥ uftaul Iss ADDIE & &R 1 iR E fre
i Share

1. FERIHR SR gedied
2. B SR HedieA
3. Fagiarur sk wian
4. PIUGUA AR Tem

) 1

() 2

(3) 3

(@) 4

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

Sl. No.107
QBID:7201007

Students participating in online classes are taught by an instructor. Following the lesson, the instructor intends
to incorporate reading materials (e-content, Power point presentation, etc.) that can be viewed by the students.
What option would instructor choosze ?

1. Content creation tools
2. Networking tools
3. Learning Management System (LMS)
4. Links of the websites
(1) 1
(2) 2
3) 3
4) 4

TS D13 § UM & 35 [l &1 U Sax® UgIdl ¢ | U6 & a1 Sax® Ja4-9ril (e-fawa
Y], IR WIge HEfd 3M1fe) 59 S5y A o $xdl § o faendf g1e sfaciio &R I | 59 A
ISR HI-H fdPhed BT 904 HIT?

1. fawasg Fafor ST
2. FeafdT IuHT
3. HISATH HeeH HuMe! (TaUHT)
4. 99912cH & i
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16425]
2[Option ID=16426]
3[Option ID=16427]
4[Option ID=16428]

Sl. No.108
QBID:7201008

Which of the following does not come under primary laws of learning ?

1. Law of effect
2. Law of Readiness
3. Law of Multiple response
4. Law of exercise
1 1
) 2
3) 3
(4) 4

frafeiRad H ®1-11 Faw Siftrm & urufie Famt & sidvid -Tel o 82

1. 9YTd &1 199
2. geRal &l g
3. 95 UG @1 190
4. 3 &1 o
(11
(2) 2
(3) 3




(4) 4

1[Option ID=16429]
2[Option ID=16430]
3[Option ID=16431]
4[Option ID=16432]

Sl. No.109
QBID:7201009

Given below are two statements :
Statement [ : Project method is best associated with the Philosophy of John Dewey.

Statement II : The strength of Project method lies in social participation.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement IT is incorrect.
4. Statement I is incorrect but statement II is correct.

FYA [ - uRETeT fafY oS4t & 2= 3 weifie v u 3 Sefia g
Y 11 - afarerT faftl Bt yaaar amEifre afawrfiar & Afiga g1
SWRIKT DY & 3l H, i 3T T fadredi # I Tad TUYH IR D1 99 DI

BT AR SHI Tl § |
CHYFIR IS Tad ¢ |
PYTITE S, AT U n Taa § |
 PUT1TTAd 8, AfT pUT I TEl § |

1)1
(2) 2
(3) 3
(4) 4

da L b =

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.110
QBID:7201010

For Undergraduate educational programmes, courses on SWAYAM Platform have been developed by :

A.NPTEL

B. ITM Ahmedabad
C. AICTE

D. CEC

E. IIM Bangalore
F. UGC

Choose the most appropriate answer from the options given below :

A, C.D and E Only

.B.D, and F Only
3.A,D.E and F Only
4. C,E and F Only

(1) 1

2) 2

3) 3

(4) 4

b =




Uﬁgmm Qe SrimHl & e g (SwAYAM) TR S g SR ureasmd ferad gR1 fawid g
el

A TYIdIgEd
B. SIS 3HTZUH, SEHAEE
C. Tarsyes

D. Higdt

F.fa.3ram
4 fau Tt fgoeal § ¥ 98 UG SR BT 907 ST

1. $AAA, C, D ARE
2. HAAB. D IR F
3. $AdA. D, E 3R F
4. %9AC,EIRF

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16437]
2[Option ID=16438]
3[Option ID=16439]
4[Option ID=16440]

Sl. No.111
QBID:7201011

While reading research paper or research reports, often one comes across the abbreviation 'viz', which means

1. for example
2. namely
3. against
4, refer to
1)1
) 2
(3) 3
(4) 4

Qe 3IeRE 1 WY Hidde (RUid) 9gd 0T Wa: Wiader viz' 3rd g, 9@ il &

1. IeTeony
2, A/ 3rufd
3. % [dox
4. g
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=16441]
2[Option ID=16442]

3[Option ID=16443]
4[Option ID=16444]

Sl. No.112
QBID:7201012

A student submits Ph.D. thesis in a university. Upon scrutiny, it is found that his'her thesis has a similarity
content of 35%. This would fall in which of the following categories of plagiarism according to UGC

regulations ?

.Level 0
.Level 1
.Level 2
.Level 3
(1) 1
2) 2
(3) 3
(4) 4

B R




o e v fayfeemea & g d-ua St oy vy oH aRdl § | SUS Y UEY $ Hdiel H1 )
IS ! [ANIa] & 35% YR § TE=0dl UTs Wil ¢ | [ayfaenas sFa o & gl & srar
Fafarad o ¥ 7% Wied R & 68 W J Sl 2

1.ER0
2.3l

3% 2

4. %3

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=16445]
2[Option ID=16446]

3[Option ID=16447]
4[Option ID=16448]

Sl. No.113
QBID:7201013

The part of research paper that gives an overview of the field to be investigated and the investigator's
hypotheses about the research outcome, is called

1. Abstract

2. Introduction
3. Results

4, Method

M 1
(2) 2

3) 3

@) 4

e A BT g8 W forgd Oy & fawg 89 &1 fagmaaie- 3R 1Y & ey & aR | 3-aued &1
IR aT3H T Jeed foar ST €, 39 ol ol &

R
PERICEI]
gikomg
fafe
(1) 1

(2) 2

(3) 3

4) 4

B s

L

1[Option ID=16449]
2[Option ID=16450]
3[Option ID=16451]
4[Option ID=16452]

Sl. No.114
QBID:7201014

A study in which a group of participants is observed and measured over a period of time, refers to

1. Longitudinal Research
2. Archival Research
3. Cross-sectional Research
4. Correlational Research
(1) 1
(2) 2
(3) 3
(4) 4

U 3 fored wiayIiiEl & Us 9Hg &1 TP $Id fait T Uer iR Ar9= fova <l 8, S9 &6l odl o

1. e Ry
2. RIE WY
3. U QY
4. 9 HaY WY

(1) 1

(2) 2

() 3

(4) 4




1[Option ID=16453]
2[Option ID=16454]
3[Option ID=16455]
4[Option ID=16456]

Sl. No.115
QBID:7201015

Given below are two statements :

Statement [ : In case of qualitative phenomena, we have data on the basis of presence or absence of an
attribute or more than one attribute.

Statement IT : With such data as mentioned in Statement I above the sampling distribution may take the form
of a Binomial probability distribution.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

1) 1
(2) 2
(3) 3
(4) 4

TS PR E:

HY [ : UNESD RGeS & TFid/Hd H, 80 U U1 U ¥ ¥ aivdisi/aamn &1 ufkufd srya
IR & MR TR 3HchsT T Hed 81

FUA 11 : ST PyH-1 F STl sfis! o1 nidex! fdarw fgudia witear o & w0 o gl g g
JURI] PYU- o ATEiD H =i [4U U fadedl § 4 gl 3 &1 99 BIoE:

HUYIARIEH TG |

CHYF I AR I EH TR |

HY IR, AP PUT I I |
B I, AT HU I I ¢ |
(1) 1

(2) 2

3) 3

(4) 4

B R

1[Option ID=16457]
2[Option ID=16458]
3[Option ID=16459]
4[Option ID=16460]

Sl. No.116
QBID:7201016

Every society, because of communication, reflects a sense of to most extent.

1. Commonality
2. Doubt
3. Indifference
4. Animus

(1) 1

(2) 2

(3) 3

(4) 4

TAF T THY0T & PRI 954 53 7D Bt YT FT I ST e |

1. G
2. 9d%
3. demar
4. fagw
1) 1
) 2
(3) 3
4) 4




1[Option ID=16461]
2[Option ID=16462]
3[Option ID=16463]
4[Option ID=16464]

Sl. No.117
QBID:7201017

On the negative side, communicative language is used to :

A Extend democratic debates
B. Suppress truth

C. Divide the society

D. Permeate ethnocentrism

E. Support global peace efforts

Choose the correct answer from the options given below :

1. A, B. C Only
2.B,C.D Only
3.C, D, E Only
4. A, C,E Only

(1) 1

2) 2

(3) 3

(4) 4

THRISTP T& Pt 91 B3 dl SHYUIG HTST BT WaNT a1 o1 &

A. Bl arg-adreg @ 9gM @ fau
B. 9 &I & $ & o

C. 9HTS &1 gic & fog

D. WSilfd-cr-s1aal &l URIEd & & A
E. 9f¥@ wifd varat & guda & fom

4 g o fared € 6 SR IR

1.PAA A, B, C
2.$ad B, C,D
3.%ad C,D.E
4. PAAA,C.E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]

Sl. No.118
QBID:7201018

Given below are two statements :

Statement [ : Communication, culture and power are inter-related.

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

Statement II : Socio-cultural values when communicated do not have any weightage of power.

In the light of the above statements, choose the correct answer from the options given below :




4 @ Py fag e &

BY I OO, TP SR T of<t: el g g

PU 11 : GUNU & GHTd HHID- ARG Jeui § Widd &1 g aoi ol 36 oidl g
JWRIGd HYA & AP 1, A1 30 7 fdasedi & I TE1 SR &1 944 Diflt:

L PUHEIAR IS 9T |
2. HYF 1 AR I SHT ST E |
3. FYT I II 8. AP HUT 1 T ¢ |
4. PUFIITT e, AT YT I TA T |
(1) 1
) 2
(3) 3
4) 4

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.119
QBID:7201019

Modern communication technology has converted words into

A. Atool of equality

B. Time

C. Atool of unwarranted peace
D. Money

E. Power

Choose the correct answer from the options given below :

A, B, C Only

.B. C. D Only
3.C.D.E Only
4.B,D, E Only

(1) 1

2) 2

3) 3

4) 4

HTeYf~e TR UIefTest 3 Rrsal ol YuRaldd o faar &

ATIFA S ARA S 9 H

B. 999 o

C. SFMUfEd ifd o1 gfad & =y o
D.YHd = H

RIS ESURE

=14 fau Tt fdeedl o 9 Hel 3R &1 90 Pl

1.Pad A, B, C
2. $4dB.C,D
3.$d0C,D,E
4. $adB,D.E

(11

(2 2

(3) 3

(4) 4

b=

1[Option ID=16473]
2[Option ID=16474]
3[Option ID=16475]
4[Option ID=16476]

Sl. No.120
QBID:7201020




Given below are two statements :
Statement I : The semantic code in communication deals with character and characterisation.

Statement II : Roland Barthes describes this code as the voice of the person.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1)1

(2) 2

3) 3

(4) 4

ATy Ry E:

BY I GO0 H 31 BT Fe U 7R 0 I TEfd g g

DY 11 : el a1 A 59 e B oafad B 1T & U 4 B

JWRIGd HYA & AP 1, A1 30 7 fdasedi & I TE1 SR &1 944 Diflt:

PUHI ARSI 99§ |

HYTI RIS ST |

B IA Q. AT HYT 11 T ¢ |
HUTI AT €, AT FUT I T T |
(1) 1

() 2

(3) 3

(4) 4

da Lo b

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.121
QBID:7201021

A shopkeeper purchases a packet of 60 pens at Rs. 10 per pen. He sells a part of the packet at a profit of 40%.
On the remaining part, he bears a loss of 20%. If his overall profit on the whole packet is 20% of , find the
number of pens he sold at profit.

(PRI I PR
[ e i |

(=]

W

1) 1
(2) 2
3) 3
(4) 4

TS DGR 10 T Ui HaH B & d 60 HAH P U Jdbe Dl @Xiadl g | 9 Udbc & Ud N DI 40%
& Y TR 91 81 AN T IR I 20% I B gl &1 Tl I8 YUl Uobe TR el A 20% Biell 8, 79
HAH @I 98 T J1d B I1oTe ford S8 Ay R a1 g

40
30
20
35

S

Pl

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=16481]
2[Option ID=16482]

3[Option ID=16483]
4[Option ID=16484]

Sl. No.122
QBID:7201022




A batsman scored 98 runs in his 17th match . As a result his average runs per match increased by 2.5. What

was his average before playing 171 mateh ?

e
o L
= s O L
Lh Lh L La

EES V)
o Lh

(1) 1
) 2
(3) 3
(4) 4

U@ geia (hare faamsh) 174 H9 H 98 T 41T & | U GRUMH WY 3P Hidid i A H 2.5
T @1 3iG Bl 9l g1 a1 1781 39 WaH & Usd 39®] 319 a1 U

oW
[= T s ]
= on D Lh
Lh L Lh La

(1)1
() 2
(3) 3
(4) 4
1[Option ID=16485]
2[Option ID=16486]

3[Option ID=16487]
4[Option ID=16488]

Sl. No.123
QBID:7201023

Water level of a river increases and decreases by 10% on alternate days in the rainy season. What shall be the
increase or decrease in the water level at the end of second day, as compared to the initial water level 7

1. 1% of increase
2. 1% decrease
3. 1.5% increase
4. 1.5% decrease

(1) 1

2) 2

(3) 3

(4) 4

qNIHG P T TS T4 P TaOwR § P & 10% P IS et & Td T 3 10% B 51 St 81 R
SR P gl H R 37 & 3id H Serer § fobd uiderd @1 gl sival ol gl @i

35
)

N
—

e
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-]
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16489]
2[Option ID=16490]

3[Option ID=16491]
4[Option ID=16492]
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There are two numbers such that the sum of twice the first number and thrice the 22¢ number is 39. Also the
sum of thrice the first number and twice the 2nd number is 36. The largest of the two numbers 1s ?

5

L

e s

.6
1) 1
(2) 2
(3) 3
(4) 4




<1 AT 58 TR &1 T B Fores gy 9 & SR 3R gudl 3% & fav &1 4 30 & a1 g §e
& a7 SR GEl Tl & S[H &1 4 36 5| G Sl H 9 a1 4= DIH-41 62

5

o

A

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=16493]
2[Option ID=16494]

3[Option ID=16495]
4[Option ID=16496]
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If SEARCH is coded as 214673 and CHART is coded as 73465, then what will be the code for TEACHER ?

. 5147316
. 5174136
. 5143716
. 5413716
(1)1
(2) 2
3) 3
(4) 4

& SEARCH ®1214673 & U T $aS 1601 91 § 3R CHART &1 73465 & U 1 HeaS (Ha1 T g |
9 TEACHER &! fq 3¢ I deas fbar s

B

. 5147316
. 5174136
. 5143716
. 5413716
(1) 1
(2) 2
3) 3
(4) 4

P e

1[Option ID=16497]
2[Option ID=16498]
3[Option ID=16499]
4[Option ID=16500]
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"Today on average we can look forward to a longer life span than the generation before us. It is obvious that it
has been possible only and only because of the millions of dedicated doctors who have ensured our good
health". Identify the fallacy committee in the above argument from the following options ?

. Hasty Generation

. False Cause

. Slippery slope

Appeal to unqualified authority

:L\Lul._)l—‘

1) 1
() 2
(3) 3
(4) 4

HTHI: 311 §H 39 d Uil &1 SUef dal Siia=-3aiy &1 U= &= dad ¢ | I8 ¥ § [ UHl had
a! T SRl & BRUI §HT 5T 5| ToFei- §9R o=y Wl 31 YHiyd foar 8| Sudad ao o
Fofafed foeedl ¥ b &Y @1 gggH S|

1. Sffaenied g
2. fargre
3. fheTgad Uaurdi
4. 3G YIUDR 398
1) 1
(2) 2
@) 3




(4) 4

1[Option ID=16501]
2[Option ID=16502]
3[Option ID=16503]
4[Option ID=16504]
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If the statement "All cricketers are rich persons’ is given as true which of the following statements can be
inferred to be false ?

A. No cricketers are rich persons.

B. Some cricketers are rich persons.

C. Some cricketers are not rich persons,
D. Some rich persons are cricketers.

Choose the correct answer from the options given below :

1.B and C Only
2. Aand C Only
3.B and D Only
4. A, Band C Only
1)1
2) 2
3) 3
(4) 4

gﬁt‘ﬂ?"HﬁtWﬂ:ﬂaﬁf%l"ﬂﬁ%é’[ﬁaﬁﬁéﬂﬁ@ﬁﬁﬂﬁwwd 31 o o el
I

A. DIg fpder o=t oafad el )
B. T8 fpdex v afadd g1
C. TO fbdhex ot aafaa g1 g
D. % Y afdd fbdrex 1

=14 fau Tt fdeedl o 9 Hel 3R &1 90 Pl

1. HadB AR C
2. Fad AR C
3.%ad B AR D
4. HAAA,BIIRC
) 1
) 2
3) 3
(4) 4
1[Option ID=16505]
2[Option ID=16506]

3[Option ID=16507]
4[Option ID=16508]
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Which of the following propositions are so related that they cannot both be true, although they both may be
false ?

A. All football players are rich persons.

B. No football players are rich persons.

C. Some football players are rich persons.

D. Some foothall players are not rich persons.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand D Only
3. Cand D Only
4, B and C Only

1) 1

(2) 2

(3) 3

(4) 4




Wﬁaﬁ@aﬁ o -4l vioitnl 59 UeR § 98 96iyd ¢ [ <1 981 781 81 9d 8, Jeft d i Tad 8l
|

A 9l pea faarst o afdd g1

B. I3 Heald [aars! -l afad 78l o |

C. T Peald Eare! o= afda g1

D. $© peald [aare! -l safad el g |

=14 fau Tt fdeedl o 9§ Hel 3R &1 90 Pl

1. %Had A 3R B
2. %ad A AR D
3.%ad C 3D
4. HIAB AR C

1) 1

) 2

3) 3

@) 4

1[Option ID=16509]
2[Option ID=16510]
3[Option ID=16511]
4[Option ID=16512]
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Which of the following propositions are logically equivalent ?

A No dogs are aggressive animals.

B. No aggressive animals are dogs.

C. All dogs are non-aggressive.

D. Some dogs are not aggressive animals,

Choose the correct answer from the options given below :

1. C and D Only
2. Aand D Only
3.A,Band C Only
4. B and D Only
(1) 1
(2) 2
(3) 3
(4) 4

fafiaa § o= uiogitaal difes <9 3 a9qa g

A 15 T P MPHHS THR T8l B
B. ®I5 ff 3MHTHS TR P Sl &
. 9l o RS B

D. T8 $1 AHHS SHaR 72l ¢

=14 fau Tt fdeedl o 9 Tel 3R &1 90 Pl

1.%ad C 3R D
2. %ad A AR D
3. A A, B AR C
4. HaAB AR D
1) 1
(2 2
3) 3
(@) 4
1[Option ID=16513]
2[Option ID=16514]

3[Option ID=16515]
4[Option ID=16516]
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Given below are two Statements :

Statement [ :According to claszical Indian school of Logic, namely Nyaya, we ascertain the relation of
universal concomitance between x and y by perceiving that in all cases the presence of x is accompanied by
presence of . and not perceiving any instances to the contrary.

Statement II : Classical Indian materialists argue that universal relation between two events cannot be
established, there being always a room for doubt about the unobserved cases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both statement I and Statement II are false.
3. Statement is true but Statement II is false.

4, Statement I 1s false but Statement II 1s true.

PYA 1 : YA YR TR 10 9 & IR 9 x 3R y & o9 GraHiy ggafdad HiEd #=d §
et gt wawuil § x 3 Iufufa & 91y y Pt SRS SR R, ok 589 Rid oS evia At &1

FUF 11 : AR YR Hifaware! ad &d © (& [l o aiaerai & 4 ardyiifs deu wifid =)
fopan o T § Fifer smifara fawdl & IR & 9o 938 3 gua et 81
IWRIad DY & AP H Al 4T U f[dwedi § ¥ Uol 3R &1 994 DIfig:

HYFIRISH AR |

PYF IR IS AT |

PUYT I R, AP PUT I AL |
AT e, AT e N I ¢ |
(1) 1

(2) 2

(3) 3

@) 4

b =

U S Y

1[Option ID=16517]
2[Option ID=16518]
3[Option ID=16519]
4[Option ID=16520]
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Which of the following applications A-C are built on top of open-source digital platforms ?

A Aadhar
B. Adobe Reader
C. COWIN

Choose the correct answer from the options given below :

1.A.Band C
2. Aand B Only
3.B and C Only
4. Aand C Only

1

(2) 2

(3) 3

(4) 4




FafRad sFyEnT A-c 8 4 $1H-$1H I Jad 9id Sio i Wewid R [ifd ey m g2

A HIYUR

B. Usig &%
C. HifgT

=i fau U fadheul & U gl 3R BT 99 Bifult:

LA B3RC
2. Had A AR B
3. HadB AR C
4. FaAAARC
1
2 2
3) 3
@) 4
1[Option ID=16521]
2[Option ID=16522]

3[Option ID=16523]
4[Option ID=16524]
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Given below are two statements :
Statement I : IBM was the most valuable worldwide IT brand in 2022.

Statement II : TCS and Infosys were the second and the third most valuable Indian brands respectively in the
IT services sector globally in 2022,

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II is false
3. Statement I is true but Statement II is false
4. Statement I false but Statement IT is true

1)1
(2) 2
(3) 3
(4) 4

e syfuuE:
FYAL : a0 oy 2022 F 3y R F Failee Gear el dis A

FUTIL: T 2022 F gl Garsi & & o fay o SHTH SiR 5P U ga% 3R 1R Fafivs
TeaH 3figel YR siis U1

IR HY o 3ATedid B, i f[qU T4 faded| & I g1 3R &l 99 BHIou:

HUYFIARISH TG |

CHYTI RIS TR |

P HIE, AT YT 1 T E |
B I, AT HU I I ¢ |
(1) 1

2) 2

3) 3

(4) 4

o L b2

1[Option ID=16525]
2[Option ID=16526]
3[Option ID=16527]
4[Option ID=16528]
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Which of the following statements (A-C) are correct with reference to "Software as a Service (SaaS)" in cloud
computing ?

A. SaaS users can access their data from any Internet-Connected computer on mobile device.

B. A web-based email service such as Outlook, Hotmail or Yahoo! Mail is a form of SaaS.

C. SaaS buyers can customize the user interface to change the look and feel of the software, as well as
modify specific areas, such as a data fields.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3.B and C Only
4. A Band C

(1) 1

(2) 2

3) 3

4) 4

TGS P H HHeadR U9 U 9iad (S & Fa & Faffad U= § € SH-9H 8 $UF 981 82

A. T TTEI Sexe § oS farddl o degex 31yar AlaTsd 39S d 319 Sl % Ugd 9 d o |

B. 313, BleHd Yl ITg Il ofdl dd SR SHd Yal 99 &1 Ud U § |

C. 91 S dl TR &1 FY 3R sufd uRkafdd #=- iR Se1 &3 o oy &3 31 Euiaikd a4
& T e SIARIgE 1 SO STagHarIaR a1 9d § |

= fau T fasedl © € gl 3R &1 999 SIfg:

1[Option ID=16529]
2[Option ID=16530]
3[Option ID=16531]
4[Option ID=16532]
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Which of the following communication technologies A-C are considered as short-range devices/technologies ?

A CCTV
B.RFID
C. WLAN

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3.B and C Only
4. A BandC

(1) 1

) 2

(3) 3

(4) 4




T o FreEnfifesal A-c B 9 6 @Y 3 SUSRU/ iG] A1 ST 82

A, It
B. 3RUGME o
C. SEegUeeyd

=i fau U fadheul & U gl 3R BT 99 Bifult:

1. $ad A IR B
2. BT A ARC
3. HadB AR C
4 A B3RC

1) 1

) 2

3) 3

@) 4

1[Option ID=16533]

2[Option ID=16534]

3[Option ID=16535]
4[Option ID=16536]
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In India, the term "Public Key Infrastructure” is used in the context of

1. Digital security infrastructure
2. Food security infrastructure
3. Health care and education infrastructure
4, Telecommunication and transportation infrastructure
1) 1
(2) 2
3) 3
4) 4

%ﬂ?ﬂﬁ'qﬁfﬁlﬁﬁﬂsﬁqﬁaqmwr (IfedT® Pt g3prgaeR) Fafafad o feas S & wan far o

. 1T Y& ST

. T GRAT SadTEl

. G S HTE 4 TR SGEET
.G F9R SR uRag 3aE= ]
@1

2) 2

() 3

) 4

o k2 =

1[Option ID=16537]
2[Option ID=16538]
3[Option ID=16539]
4[Option ID=16540]
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What is the correct sequence of steps in Risk assessment related to environmental hazards ?

A Risk characterization
B. Exposure assessment
C. Hazard Identification
D. Risk Management

Choose the correct answer from the options given below :
.C,B,A,D

.C,A.B,D
A, €,
.B,C,

b2 =

ES V)

B.D
D. A
1) 1
(2) 2
@3) 3
(4) 4




JIaRUNT WeR| ¥ Hed SRy Yeuied & Fafiad del &l 95! S5 91 62

A, SIfET iR
B. S&HIEA Jeaia-
C. Rl Bl UgdH
D. SilRdH w&e
i feu T faedl o ¥ Tel SR &1 90 Diiuu:

.C.B.A,D

1
2
3.
_1

B0
DAy
oww
> o U

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16541]
2[Option ID=16542]

3[Option ID=16543]
4[Option ID=16544]
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National Solar Mission, one of the missions of National Action Plan on Climate Change (NAPCC) was
launched in the year

2009
2010
. 2011
L2012
(1) 1
(2) 2
(3) 3
(4) 4

Searg uikad= dee P P e (@Aedi & iRE T S e g OR iRE el Fa g g feu oy
IR T 7T U1

F

. 2009
. 2010
. 2011
2012

b =

:h.t_.-o

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16545]
2[Option ID=16546]

3[Option ID=16547]
4[Option ID=16548]
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Which one of the following has contributed maximum in sea level rise so far in the context of climate change ?

1. Melting of Antarctic Ice-shests
2. Melting of Glaciers
3. Thermal expansion of oceanic waters
4. Melting of Greenland Ice sheets

(1) 1

(2) 2

(3) 3

(4) 4




gﬁﬂ@%ﬁh%ﬂ"dﬁﬁa@; TR B HR Io1 H 3t ap Fafarad & 3 fge grrer siftedd g1

1. &f&r ydig fes areR o1 foueH
2. few gusi @1 fuga
3. HEUNRIY ofd &1 dHig R
4, Y10 I {6 F1e] &1 foae

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16549]

2[Option ID=16550]

3[Option ID=16551]
4[Option ID=16552]
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Out of different oxides of nitrogen which of the following are considered as Air Pollutants and known as NOx
9

A.NO (Nitric Oxide)

B. NO, (Nitrogen dioxide)
C. NO5 (Nitrogen trioxide)
D. N0 (Nitrous oxide)

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Only
3. Cand D Only
4. A, Band D Only
1)1
@) 2
(3) 3
(4) 4

regia & faftra srarrsst # 9 9 7 9 g arg ugy® 5 911§ SR NO, & 9 H W Wl 3

A.NO (FIEf¢® HI5S)
B. NO, (AZ¢Io 315 HATFIES)

C. NO; (AIECISH ¢Ts HEHIES)
D. N,0 (FTi5¢d a5 S)

14 fau e faeedl o 9§ Tl 3R &1 90 Pl

1. Had A 3R B
2. PaaAB AR C
3.%ad C 3RD
4.%ad A, B 3R D

1

) 2

3) 3

@) 4

1[Option ID=16553]
2[Option ID=16554]
3[Option ID=16555]
4[Option ID=16556]
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The advantages of biodiesel over conventional petro diesel are :

A. Biodiesel produces significantly lesser CO, and SO,.

B. It is non-renewable

C. It has higher octane number

D. It can be used in any ratio with petro-diesel
E. It has lower flash point.

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B.Cand D Only
3.A, Cand D Only
4. C, D and E Ounly

1 1

(2) 2

3) 3

(4) 4

qRURS YSISIoTd P U Sia-Siord & 9 & § ar-a1 a1y €7

A. SIg-Sieid BB B CO, 3R SO, 3T PRl 5

B. Ug TR Adia_ufig 2|

C. TUPT Aae GBI SHR g

D. 39 el Stod & a1 et ot srura & wdi fasan o 9 g
E. 399 (19 Sao-id (TS @IEe) 8

4 feu e fawedl # ¥ e Sugad SR 91 99 SHifoe:

1.Had A, B IR C
2. %ad B, C ARD
3.%ad A, C AR D
4.HAAC, D IRE

1

) 2

3) 3

(@) 4

1[Option ID=16557]
2[Option ID=16558]
3[Option ID=16559]
4[Option ID=16560]
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Which of the following names of technology platforms has been mentioned in NEP-2020 through which
online training of teachers will be encouraged ?

A SWAYAM
B. AYUSH
C. PARAKH
D. DIKSHA
E.NIT

Choose the correct answer from the options given below :

1.B and C Only
2. Aand D Only
3.A, Cand D Only
4. A BandE Only
1 1
(2) 2
3) 3
(4) 4
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A.Gg

B. 31N
C.IRE

D. gl&f

E. T35l

14 fau e fawedl & € 61 SR &1 90 SIfw:

1. FaAB AR C
2. Had A MR D
3.%ad A, C AR D
4. HAT A, B IRE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16561]
2[Option ID=16562]

3[Option ID=16563]
4[Option ID=16564]
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In 1904, Curzon was the moving force behind the enactment of the Indian University Act which intended to
introduce radical changes into which of the following universities :

A. Calcutta

B. Bombay

C. Madras

D. Punjab (in Lahore)
E. Allahabad

Choose the most appropriate answer from the options given below :

1. A Band C Only
2.C.Dand E Only
3.A.C.Dand E Only
4. A, B, C.DandE

1

(2) 2

3) 3

(4) 4

Ty 1004 H YRa fafaemey sififaa & sifftaea & foru tromdia oolq u o sexg fAgrfafad
o fayfaaerl 9 smrg-ga uRadH! &1 e ST 412

A TAHl
B. @l

C. IE

D. Ui (ATeR )
E. Salglal

9 fou U fgaet 1§ & 9ad IUgdd IR &1 90 B IfoTg:

1. HAAA, B3R C
2. HAAC, D IR E
3. %A A, C,D AR E
4.A,B.C.D3RE

1) 1

) 2

3) 3

@) 4

1[Option ID=16565]
2[Option ID=16566]
3[Option ID=16567]
4[Option ID=16568]
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Given below are two statements :
Statement [ : UGC is a central government organization established by an Act of Parliament in 1956,

Statement II : UGC has established five regional centres in order to ensure proper functioning.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but statement II is correct.

(1)1
() 2
(3) 3
(4) 4

-y fag e

HYT 1 GO, 1956 T 48 T S gR1 AT fo5a1 7101 U S8 TSR G134 ¢
HUF 11 : ToidT = THfREd S & 9Ria s & o9 § e &5 Sl o wiftd e g
SWRIKT HUH & 3Telip |, - 3T 7 faebed] & 4 Tad TUgR] IR B 99 DIWT:

PHUF I AR I SH Tel & |
HYFIR IS Tad § |
BT 1 Tel 8. AT HYUT 1 7Ted ¢ |
 PYT 1T B, AT PUT I TET |

1) 1
(2) 2
(3) 3
(4) 4

da Lo b

1[Option ID=16569]
2[Option ID=16570]
3[Option ID=16571]
4[Option ID=16572]
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Ministry of Environment and Forests, Govt. of India with the help of centre for Environment Education
{CEE), launched a National Environmental Awareness campaign (NEAC) in 1986 to increase
awareness about the environment in various target groups in the country.

1. Chennai
2. Ahmedabad
3. Delhi
4. Hyderabad
1 1
(2) 2
(3) 3
(4) 4

YRd IRBR & YaiaRvl Td a4 HAag - gafarur e 5q &= (Ids) B ggmard R g
fafder aféra Togl & Aoy waiaRul & aR # Sreddl H gls og ay 1986 H PTG ydiaRufiy Sivad
S B (TR BT Yo B

1. 995
2. JEHSEE
3. faelt
4, BeEE
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=16573]
2[Option ID=16574]




3[Option ID=16575]
4[Option ID=16576]
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Which of the following is an important archacological site declared by UNESCO as a world Heritage site in
1980 7

1. Takshshila
2. Mithila
3. Vallabhi
4. Nalanda
1)1
(2) 2
3) 3
(4) 4

AfaRad O 9 14 U Tew@yu RIATad e § o] J1%] gR1ay 1080 B fay erige =i gifta
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. e
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1) 1

(2) 2

(3) 3

4) 4

L b3 —

1[Option ID=16577]
2[Option ID=16578]
3[Option ID=16579]
4[Option ID=16580]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to deseribe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
+ The lower Nile valley.
+ The plains of the river Indus.

Later. urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function =0 as to merit the claszification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Based on the information given in the passage, arrange the following events in correct chronological order.

A. Emergence of the first cities

B. Neolithic Revolution

C. Invention of writing

D. The Minoan civilisation cities which flourished in Crete

Choose the correct answer from the options given below :
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the claszification of urban,

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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The term LICs in the passage most likely represents

1. Lower Indo-China
2. Later Indus and China
3. Low Income Countries
4. Laos India and China
(1)1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to deseribe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
+ The lower Nile valley.
+ The plains of the river Indus.

Later. urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function =0 as to merit the claszification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Which major development led to the transformation of villages in the plains between Euphrates and Tigris,
into urban centres ?

1. The Emergence of wheeled cart
2. Neolithic Revolution
3. Metallurgy
4. Invention of Writing
1 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were

+ Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas, Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function =0 as to merit the claszification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Arrange the following places where urban centres developed. in correct chronological order.

A, Greece

B. Crete

C. Rome

D. The plains of river Indus

Choose the correct answer from the options given below :

D,B,A,C
D.ERA
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the claszification of urban,

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Given below are two statements :
Statement I : Urban centres in China developed before they developed in the plains of Indus river.

Statement II : Trading centres developed much later than the first cities.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement IT is true

1)1

(2) 2

3) 3

(4) 4
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